DEPARTMENT OF HEALTH CARE ACCESS AND INFORMATION
OFFICE OF STATEWIDE HOSPITAL PLANNING AND DEVELOPMENT

APPLICATION FOR HCAI SPECIAL SEISMIC OFFICE USE ONLY

CERTIFICATION PREAPPROVAL (OSP) APPLICATION #: OSP-0553

HCAI Special Seismic Certification Preapproval (OSP)

Type: |:| New Renewal

Manufacturer Information

Manufacturer: Rolls-Royce Solutions America, Inc.

Manufacturer's Technical Representative: Ben Stratton

Mailing Address: 100 Power Drive, Mankato, MN 56001

Telephone: (507) 625-7973 Email: ben.stratton@ps.rolls-royce.com

Product Information

Product Name: Diesel Generator Set

Product Model Number(s): See Attached Approved Product Listing

Product Category: Emergency and Standby Power Systems
Product Sub-Category: Generators
General Description: Generators are on carbon steel skid with aluminum-and steel enclosures approved up to 3250kW units.

Mounting Description:  Rigid & External Spring Isolated Base Mounting, with or without fuel tanks.

Tested Seismic Enhancements: Seismic enhancements made to the test units and/or modifications required to address
anomalies during the tests shall be incorporated into the production units.

Applicant Information

Applicant Company Name: The VMC Group

Contact Person: John Giuliano

Mailing Address: 113 Main Street, Bloomingdale, NJ 07403

Telephone: (973) 838-1780 Email: John.giuliano@thevmcgroup.com

Title: President

08/05/2025 OSP-0553 Page 1 of 59



DEPARTMENT OF HEALTH CARE ACCESS AND INFORMATION
OFFICE OF STATEWIDE HOSPITAL PLANNING AND DEVELOPMENT

California Licensed Structural Engineer Responsible for the Engineering and Test Report(s)

Company Name: THE VMC GROUP

Name: Kenneth Tarlow California License Number: S2851

Mailing Address: 980 9th Street, 16th Floor, Sacramento, CA 95814

Telephone: (832) 627-2214 Email: ken.tarlow@thevmcgroup.com

Certification Method

[ ] GR-63-Core ICC-ES AC156 [ ] IEEE 344 [ ] IEEE 693 [ ] NEBS 3

|:| Other (Please Specify):

Testing Laboratory

Company Name: U.S. ARMY ENGINEER RESEARCH AND DEVELOPMENT CENTER, CONSTRUCTION ENGINEERING
RESEARCH LABORATORY (CERL)

Contact Person: James Wilcoski

Mailing Address: 2902 Newmark Dr., Champaign IL 61822-1076

Telephone: (217) 373-4565 Email: James.wilcoski@usace.army.mil

Company Name: DYNAMIC CERTIFICATION LABORATORY (DCL)

Contact Person: Kelly Laplace

Mailing Address: 1315 Greg St., Ste 109, Sparks NV 89431

Telephone: (775) 358-5085 Email: Kelly@shaketest.com

Company Name: ENVIRONMENTAL TESTING LABORATORIES, INC. (ETL)

Contact Person: Jeremy Lange

Mailing Address: 11034 Indian Trail, Dallas TX 75229-3513

Telephone: (972) 247-9657 Email: Jeremy@etldallas.com

Company Name: UNIVERSITY OF CALIFORNIA, BERKELEY (PEER)

Contact Person: Amarnath Kasalanati

Mailing Address: 325 Davis Hall, Berkeley CA 94720-1729

Telephone: (510) 642-3437 Email: Amarnathl@berkeley.edu

08/05/2025 OSP-0553 Page 2 of 59



DEPARTMENT OF HEALTH CARE ACCESS AND INFORMATION
OFFICE OF STATEWIDE HOSPITAL PLANNING AND DEVELOPMENT

Seismic Parameters

Design Basis of Equipment or Components (Fp/Wp) = 1.13/1.875 (Rigid/Isolated — SDS = 2.50 @ z/h = 0.0); 1.44/4.5
(Rigid/Isolated — SDS = 2.00 @ z/h = 1.0)

Sps (Design spectral response acceleration at short period, g) = 2.00 (z/h = 1); 2.50 (z/h = 0)

ap (Amplification factor) = 1.0 (Rigid); 2.5 (Isolated)

Rp (Response modification factor) = 2.5 (Rigid); 2.0 (Isolated)

Qo (System overstrength factor) = 2.0

Ip (Importance factor) = 15

z/h (Height ratio factor) = Oand 1

Natural frequencies (Hz) = See Attachment
Overall dimensions and weight = See Attachment

HCAI Approval (For Office Use Only) - Approval Expires on 08/05/2031

Date: 8/5/2025

Name: Mohammad Karim Title:  Supervisor, Health Facilities

Special Seismic Certification Valid Up to: Sps (g) = 2.0 zlh= 1

Condition of Approval (if applicable):

08/05/2025 OSP-0553 Page 3 of 59



Table 1 — Certified Gensets Off Tank

Model Max Rating | Configuration EF:A Max Dlmer\smns Lin ] Max Weight Mo_untlng_j UuT
Rating | Length Width Height [Ib] Configuration
mtu 3R0096 DS20 20 KW Open Tier 4 76 36 56 1,800 Isolated / R!g!d Extrapolated
Enclosed 92 36 63 2,500 Isolated / Rigid Extrapolated
mtu 3R0096 DS30 30 KW Open Tier 4 76 36 56 1,800 Isolated / R!g!d Extrapolated
Enclosed 92 36 63 2,500 Isolated / Rigid Extrapolated
mtu 4R0113 DS40 40 kKW Open Tier 3 86 40 61 2,900 Isolated / R!g!d Extrapolated
Enclosed 102 40 66 3,600 Isolated / Rigid Extrapolated
mtu 4R0113 DS50 50 KW Open Tier 3 86 40 61 2,900 Isolated / R!g!d Extrapolated
Enclosed 102 40 66 3,600 Isolated / Rigid Extrapolated
mtu 4R0113 DS60 60 KW Open Tier 3 86 40 61 2,900 Isplgted / Rigid Extrapolated
Enclosed 102 40 66 3,600 Rigid / Isolated Extrapolated
mtu 4R0113 DS60 60 kW Enclosed Tier 3 101 40 66 6,183 Isolated UUT-01A
Open . 88 40 68 3,600 Isolated / Rigid Interpolated
tu 4R0113 DS80 80 kW Tier 3
mi Enclosed ' 133 48 80 4,700 Isolated / Rigid | Interpolated
Open . 88 40 68 3,600 Isolated / Rigid Interpolated
tu 4R0113 DS100 100 kW Tier 3
mi Enclosed ' 133 48 80 4,700 Isolated / Rigid | Interpolated
Open . 88 40 68 3,600 Isolated / Rigid Interpolated
tu 4R0113 DS125 125 kW Tier 3
mi Enclosed ' 133 48 80 4,700 Isolated / Rigid | Interpolated
Open . 100 40 70 4,500 Isolated / Rigid Interpolated
tu 6R0113 DS150 150 kW Tier 3
mi Enclosed ' 145 48 87 5700 Isolated / Rigid | Interpolated
Open . 100 40 70 4,500 Isolated / Rigid Interpolated
R0113 DS1 180 kW Tier 3
mitu 6RO113 DST80 Enclosed er 145 48 87 5,700 Isolated / Rigid | Interpolated
Open . 100 40 70 4,500 Isolated / Rigid Interpolated
R0113 DS2 200 kW Tier 3
mtu 6RO113 DS200 Enclosed er 145 48 87 5,700 Isolated / Rigid | Interpolated
Open . 144 60 98 8,500 Isolated / Rigid Interpolated
R0150 DS2 230 kW Tier3/4
mitu 6R0150 DS230 Enclosed | = 190 60 104 11,000 Isolated / Rigid | Interpolated
Open : 144 60 98 8,500 Isolated / Rigid Interpolated
R0150 DS2 250 kW Tier3/4
mitu 6R0150 DS250 Enclosed | " 190 60 104 11,000 Isolated / Rigid | Interpolated
Open ) 144 60 98 8,500 Isolated / Rigid Interpolated
R0150 DS27 275 kW Tier3/4
mitu 6R0150 DS275 Enclosed | . 190 60 104 11,000 Isolated / Rigid | Interpolated
Open | 144 60 98 8,500 Isolated / Rigid Interpolated
tu 6R0150 D 300 kW Tier3/4
mtu 6R0150 DS300 Enclosed | " 190 60 104 11,000 Isolated / Rigid | Interpolated
Open . 155 88 105 11,000 Isolated / Rigid Interpolated
tu 6R0225 DS350 350 kW Tier 3/ 4
miu Enclosed | =" 207 88 11 14,000 Isolated / Rigid | Interpolated
Open . 155 88 105 11,000 Isolated / Rigid Interpolated
tu 6R0225 DS400 400 kW Tier 3/4
mi Enclosed er 207 88 111 13,000 Rigid / Isolated UUT-19B
Open / 216 78 87 10,000 Isolated / Rigid Interpolated
R0269 DS4 450 kW Tier 2
miu 6R0269 DS450 Enclosed er 216 78 102 14,000 Isolated / Rigid | Interpolated
Open > 216 78 87 10,000 Isolated / Rigid Interpolated
R0269 D 500 kW Tier 2
miu 6R0269 DSS00 Enclosed =] 216 78 102 14,000 Isolated / Rigid | Interpolated
Open L 157 73 84 12,000 Isolated / Rigid Interpolated
12V1 D 550 kW Tier 2
miu 12Y1600 DSSS0 Enclosed & 273 99 113 17,000 Isolated / Rigid | Interpolated
mtu 12V1600 DS600 600 kW Enclosed Tier 2 270 84 100 14,780 Isolated UUT-03B
mtu 12V1600 DS600 600 kW Enclosed Tier 2 250 86 105 15,820 Isolated UUT-31
Open ! 157 73 84 12,000 Isolated / Rigid Interpolated
12V1 D 600 kW Tier 2
miu 12Y1600 DS600 Enclosed a8 273 99 113 17,000 Isolated / Rigid | Interpolated
Open { 178 84 86 16,250 Isolated / Rigid Interpolated
12V1 DS7 750 kW Tier 2
mitu 12Y1600 DS750 Enclosed g 318 96 102 24,000 Isolated / Rigid | Interpolated
Open . 178 84 86 16,250 Isolated / Rigid Interpolated
12V1 D 800 kW Tier 2
mtu 12Y1600 DS800 Enclosed er 318 96 102 24,000 Isolated / Rigid | Interpolated
Open . 178 84 86 16,250 Isolated / Rigid Interpolated
12V1 D 900 kW Tier 2
mtu 12Y1600 DS900 Enclosed er 318 96 102 24,000 Isolated / Rigid | Interpolated
Open . 200 92 98 20,000 Isolated / Rigid Interpolated
16V2 DS1 1000 kW Tier 2
mtu 16V2000 DS1000 Enclosed er 347 109 140 38,000 Isolated / Rigid | Interpolated
Open . 200 92 98 20,000 Isolated / Rigid Interpolated
16V2 DS12 1250 kW Tier 2
mtu 16V2000 DS1250 Enclosed er 347 109 140 38,000 Isolated / Rigid | Interpolated
Open . 200 90 97 21,000 Isolated / Rigid Interpolated
18V2 DS12 1250 kW Tier 2
mtu 18V2000 DS1250 Enclosed er 347 109 140 40,000 Isolated / Rigid | Interpolated
mtu 12V4000 DS1250 1250 kW Open Tier 2 262 122 121 60,000 Isolated / Rigid Interpolated
mtu 12V4000 DS1500 1500 kW Open Tier 2 263 122 121 60,000 Isolated / Rigid Interpolated
mtu 12V4000 DS1750 1750 kW Open Tier 2 264 122 123 60,000 Isolated / Rigid Interpolated
mtu 16V4000 DS2000 2000 kW Open Tier 2 288 122 141 66,000 Isolated / Rigid Interpolated
mtu 16V4000 DS2250 2250 kW Open Tier 2 288 122 141 66,000 Isolated / Rigid Interpolated
mtu 16V4000 DS2500 2500 kW Open Tier 2 302 122 141 66,000 Isolated / Rigid Interpolated
mtu 20V4000 DS2500 2500 kW Open Tier 2 307 122 141 69,400 Isolated / Rigid Interpolated
mtu 20V4000 DS2800 2800 kW Open Tier 2 307 132 141 69,400 Isolated / Rigid Interpolated
mtu 20V4000 DS3000 3000 kW Open Tier 2 320 132 150 69,400 Isolated / Rigid Interpolated
mtu 20V4000 DS3250 3250 kW Open Tier 2 320 132 150 63,150 Isolated UUT-08
mtu 20V4000 DS3250 3250 kW Open Tier 2 300 122 141 64,000 Isolated / Rigid Interpolated
mtu 20V4000 DS3250 3250 kKW Sz Tier 2 320 132 150 68,900 Isolated / R!g!d UuT-20B
320 132 150 69,400 Isolated / Rigid UUT-20A
08/05/2025 OSP-0553 Page 4 of 59




Table 2 — Certified Gensets On Tank

. . . EPA Max Dimensions [ in ] Max Weight Mounting
Model Max Rating | Configuration Rating Length Width Height [Ib] B uuT
Open . 115 44 92 4,600 Isolated / Rigid Extrapolated
tu 3R0096 DS20 20 kW Tier 4
mi Enclosed o 115 44 99 5,300 Isolated / Rigid | Extrapolated
mtu 3R0096 DS30 30 kW Enclosed Tier 4 105 36 102 4,740 Rigid UuT-23
Open Tier 4 115 44 92 4,600 Isolated / Rigid Interpolated
R D 30 kW
mtu 3R0096 DS30 Enclosed Tier 4 115 44 99 5,300 Isolated / Rigid | Interpolated
Open Tier 3 128 48 95 7,200 Isolated / Rigid Interpolated
4R0113 DS4 40 kW
mtu 4R0113 DS40 Enclosed Tier 3 128 48 108 7,900 Isolated / Rigid Interpolated
Open Tier 3 128 48 95 7,200 Isolated / Rigid Interpolated
4R0113 D 50 kW
mtu 4R0113 DSS0 Enclosed Tier 3 128 48 108 7,900 Isolated / Rigid Interpolated
Open Tier 3 128 48 95 7,200 Isolated / Rigid Interpolated
mtu 4R0113 DS60 60 kW Enclosed Tier 3 128 48 97 7,841 Rigid UUT-1B
Enclosed Tier 3 128 48 97 8,024 Isolated UuT-1C
Open . 187 48 104 13,000 Isolated / Rigid Interpolated
tu 4R0113 DS80 80 kW Tier 3
mi Enclosed o 187 48 116 14,000 Isolated / Rigid | Interpolated
Open . 187 48 104 13,000 Isolated / Rigid Interpolated
tu 4R0113 DS100 100 kW Tier 3
miu Enclosed o 187 48 116 14,000 Isolated / Rigid | Interpolated
Open . 187 48 104 13,000 Isolated / Rigid Interpolated
tu 4R0113 DS125 125 kW Tier 3
miu Enclosed o 187 48 116 14,000 Isolated / Rigid | Interpolated
Open . 270 48 106 17,000 Isolated / Rigid Interpolated
150 kW T
mtu 6RO113 DST50 50 Enclosed ler 3 270 48 123 18,000 Isolated / Rigid | Interpolated
Open . 270 48 106 17,000 Isolated / Rigid Interpolated
180 kW T
mtu 6RO113 DST80 80 Enclosed ler 3 270 48 123 18,000 Isolated / Rigid | Interpolated
Open . 270 48 106 17,000 Isolated / Rigid Interpolated
tu 6R0113 DS200 200 kW Tier 3
miu Enclosed o 270 48 123 18,000 Isolated / Rigid | Interpolated
mtu 6R1600 DS300 300 kW Enclosed Tier 3 230 84 135 11,430 Rigid UuT-02
mtu 6R0150 DS300 300 kW Enclosed Tier3/4 190 62 121 12,135 Isolated uuT-04
mtu 6R0150 DS275 275 kW Enclosed Tier 3/ 4 280 60 140 14,600 Rigid UuT-09
mtu 6R0150 DS300 300 kW Open Tier 3 409 64 78 22,812 Isolated UuT-24
230 kW Open Tier 3/4 320 60 134 25,000 Isolated / Rigid Interpolated
mitu 6R0150 DS230 230 kW Enclosed Tier3/4 320 60 140 28,500 Isolated / Rigid Interpolated
250 kW Open Tier3/4 320 60 134 25,000 Isolated / Rigid Interpolated
mtu 6R0150 DS250 250 kW Enclosed Tier3/4 320 60 140 28,500 Isolated / Rigid Interpolated
275 kW Open Tier3/4 320 60 134 25,000 Isolated / Rigid Interpolated
mtu 6R0150 DS275 275 kW Enclosed Tier3/4 320 60 140 28,500 Isolated / Rigid Interpolated
300 kW Open Tier3/4 320 60 134 25,000 Isolated / Rigid Interpolated
mtu 6R0150 DS300 300 kW Enclosed Tier 3./4 320 60 140 28,500 Isolated / Rigid Interpolated
Open Tier3/4 287 88 141 30,000 Isolated / Rigid Interpolated
kW
mtu 6R0225 DS330 350 Enclosed Tier3/4 287 88 147 36,000 Isolated / Rigid Interpolated
Open Tier3/4 287 88 141 30,000 Isolated / Rigid Interpolated
mtu 6R0225 DS400 400 kW Enclosed Tier3/4 287 88 147 32,500 Isolated / Rigid UUT-19A
Enclosed Tier3/4 296 90 140 36,093 Isolated / Rigid UuT-05
Open . 381 82 123 36,000 Isolated / Rigid Interpolated
tu 6R0269 DS450 450 kW Tier 2
mi Enclosed \ 381 82 138 40,000 lsolated / Rigid | Interpolated
Open 381 82 123 36,000 Isolated / Rigid Interpolated
mtu 6R0269 DS500 500 kW Enclosed Tier 2 396 82 138 36,900 Isolated / Rigid UUT-29A,B
Enclosed 381 82 138 40,000 Isolated / Rigid Interpolated
Open . 326 99 125 42,000 Isolated / Rigid Interpolated
kW Tier 2
mtu 12V1600 DSSS0 550 Enclosed ! 377 99 149 47,000 lsolated / Rigid | Interpolated
Open 326 99 125 42,000 Isolated / Rigid Interpolated
mtu 12V1600 DS600 600 kW Enclosed Tier 2 330 84 150 44,980 Isolated UUT-03A
Enclosed 377 99 149 47,000 Isolated / Rigid Interpolated
Open . 470 97 128 59,250 Isolated / Rigid Interpolated
12V1 DS7 750 kW Tier 2
mitu 12V1600 DS750 Enclosed er 470 97 144 67,000 Isolated / Rigid | Interpolated
Open . 470 97 128 59,250 Isolated / Rigid Interpolated
12V1 D 800 kW Tier 2
mtu 12V1600 DS800 Enclosed er 470 97 144 67,000 Isolated / Rigid | Interpolated
mtu 12V1600 DS900 900 kW Enclosed Tier 2 318 102 144 37,688 Isolated UUT-21A
mtu 121600 DS900 900 kW Enclosed Tier 2 318 102 144 37,688 Rigid UUT-21B
Open . 470 97 128 59,250 Isolated / Rigid Interpolated
12V1 D 900 kW Tier 2
mtu 12Y1600 DS900 Enclosed er 470 97 144 67,000 Isolated / Rigid | Interpolated
Open . 420 109 134 65,000 Isolated / Rigid Interpolated
16V2 DS1 1000 kW Tier 2
mtu 16V2000 DS1000 Enclosed er 420 109 176 83,220 Isolated / Rigid | Interpolated
mtu 162000 DS1250 1250 kW Enclosed Tier 2 420 109 176 66,050 Isolated / Rigid UUT-06
Open . 420 109 134 65,000 Isolated / Rigid Interpolated
1250 kW Tier 2
mtu 16V2000 DS1250 50 Enclosed o 420 109 176 83,220 Isolated / Rigid | Interpolated
Open . 420 109 134 66,000 Isolated / Rigid Interpolated
1250 kW Tier 2
mtu 18V2000 DS1250 50 Enclosed ol 420 109 176 84,220 Isolated / Rigid | Interpolated
mtu 182000 DS1250 1250 kW Enclosed Tier 2 412 111 179 84,220 Isolated uuT-07
08/05/2025 OSP-0553 Page 5 of 59




Table 3A - Certified Enclosures

Component , Max Dimensions [in] | Weight
Part N N M 1 T
[MFR ] art Number otes atenial M ength | Width | Height | [Ib] uu
XSG30380.00081 30 kW 76 36 63 604 UUT-23
XSG31300.00007 40-50 kW 86 40 66 594 Interpolated
XSG31300.00008 60 kW 86 40 66 594 Interpolated
XSG30380.00150 80-125 kW 100 48 80 768 Interpolated
XSG30380.00141 150-200 kW 112 48 87 907 Interpolated
XS572300.00060 230-300 kW (130 mph) 144 56 85 1,367 UuT-02
XSG30380.00033 /
XSG30380.00027 210-300 kW (130/190 mph) 144 56 85 1,772 UuT-09
XSG30380.00103 /
XSG30380.00099 210-300 kW (130/190 mph) 144 56 85 1,700 Interpolated
XSG30380.00060 /
XSG30380.00058 275-400 kW (130/190 mph) 155 84 93 1,933 Interpolated
XSG30380.00108 /
XSG30380.00109 300-400 kW (130/190 mph) 155 84 93 2,051 UuT-05
Enclosure XSG30380.00175 450-500 kW Level 1-2 177 76 102 1,755 Interpolated
[ Rolls-Royce | XSG30380.00167 450-500 kW Level 3 Carbon 218 76 102 2,255 UUT-29A,B
Solutions X8574300.00116 / Steel
America Inc.] | XS574300.00118 450-600 kW (130/190, mph) 170 84 103 2,195 Interpolated
X8575380.00032 550-600 kW Level 1-2 184 86 102 2,000 Interpolated
XS575380.00031 550-600 kW Level 3 232 86 102 3,100 UUT-31
XS8575380.00014 /
XS575380.00015 750-900 kW Enclosure, 130/190 300 96 102 2,918 UUT-21A,B
X8545380.00076 /
XS545380 00080 650-900 kW Enclosure - Level 1-2, 130/190 271 109 140 4,315 Interpolated
X8535380.00060 /
XS535380 00062 650-900 kW Enclosure - Level 3, 130/190 333 109 140 4,970 Interpolated
XS8546380.00007 /
XS546380.00011 1000-1250 kW - Level 3, 130/190 mph 347 109 140 5,097 Interpolated
XS8546380.00005 /
XS546380 00009 1000-1250 kW - Level 1-2, 130/190 mph 285 109 140 4,551 Interpolated
XS545380.00048 /
XS545380 00039 1000-1250 kW - Level 3, 130/190 mph 347 109 140 5,206 UuUT-06

08/05/2025

OSP-0553

Page 6 of 59




Table 3A - Certified Enclosures (Continued)

Component , Max Dimensions [in] | Weight
Part N N M 1 T
[MFR ] art Number otes atenial M ength | Width | Height | [Ib] uu
XZG3138000008 30 kW - 60 kW 86 40 66 269 UUT-01A,B,C
XSG30380.00083 30 kW 76 36 63 364 Interpolated
XSG30380.00126 30 kW HVHZ 76 36 63 413 Interpolated
XSG31300.00010 40-50 kW 86 40 66 269 Interpolated
XSG30380.00127 40-50 kW - HVHZ 86 40 66 465 Interpolated
XSG31300.00011 60 kW 86 40 66 269 Interpolated
XSG30380.00127 B60KW - HVHZ 86 40 66 465 Interpolated
XSG30380.00153 80-125 kW 100 48 80 344 Interpolated
XSG30380.00154 80-125 kW HVHZ 100 48 80 643 Interpolated
XSG30380.00142 150-200 kW 112 48 87 403 Interpolated
XSG30380.00143 150-200 kW HVHZ 112 48 87 791 Interpolated
XSG30380.00036 /
XSG30380.00038 210-300 kW (130/190 mph) 144 56 85 1,019 Interpolated
XSG30300.02651 210-300 kW HVHZ 144 56 85 1,717 Interpolated
XSG30380.00063 /
XSG30380.00065 275-400 kW (130/190 mph) 155 84 93 981 UUT-19A,B
XSG30380.00105 /
XSG30380.00101 210-300 kW (130/190 mph) 144 56 85 1012 UuT-04
XSG30380.00111 /
e XSG30380.00113 300-400 kW (130/190 mph) 155 84 93 1048 Interpolated
[ Rolls-Royce | XSG30380.00184 450-500 kW Level 1-2 Alumi 177 76 102 1,155 Interpolated
Solutions | XSG30380.00179 450-500 kW Level 3 uminum r=s18 76 102 | 1,365 | Interpolated
America Inc.] | XSG30380.00185 450-500 kW HVHZ 218 76 102 1,420 Interpolated
XS575300.00054 450-600 kW (190 mph) 170 84 92 1088 UUT-03A,B
X8574300.00120 /
XS574300.00122 450-600 kW (130/190 mph) 170 84 92 1,088 Interpolated
X8575380.00040 550-600 kW Level 1-2 184 86 102 1,500 Interpolated
XS575380.00030 /
XS575380.00041 550-600 kW Level 3 / HVHZ 232 86 102 2,400 Interpolated
XS8575380.00020 750-900 kW Enclosure, 190 300 96 102 1791 Interpolated
XS8545380.00077 /
XS545380 00081 650-900 kW Enclosure - Level 1-2, 130-190 mph 271 109 140 1,449 Interpolated
XS8535380.00061 /
XS535380.00063 650-900 kW Enclosure - Level 3, 130/190 mph 333 109 140 1,899 Interpolated
XS8545380.00047 /
XS545380 00051 1000-1250 kW Enclosure - Level 1-2, 130-190 mph 285 109 140 1,767 Interpolated
XS8545380.00049 /
XS545380 00040 1000-1250 kW Enclosure - Level 3, 130-190 mph 347 109 140 2,218 Interpolated
XS546380.00006 /
XS546380.00010 1000-1250 kW Enclosure - Level 1-2, 130-190 mph 285 109 140 1,686 Interpolated
| *(5246380.00008/ | 45, 1550 Ky Enclosure - Level 3, T36-180 mph 347 | 100 | 140 | 2159 U967 o' S

XS546380.00012

©




Table 3B — Certified Enclosure Scoops

VVeTYTTt

c"[";np:;‘]’"t Part Number Notes Material L“::;tlr::lm:v?:tl: "SH[e'i;"llt [1b] uuT
XSG30300.00089 30 KW 15 36 63 99 UuT-23
XSG31300.00012 40-60 KW 15 40 66 120 | Interpolated
XSG21300.00039 80-125 KW Carbon 33 48 80 172 | Interpolated
XSG21300.00043 150-200 kW Stos| 33 48 87 253 | Interpolated
XSG30380.00028 210-300 kW 46 56 85 434 UUT-09
XS572300.00062 230-300 kW 46 56 85 435 UUT-02
: Ros"‘:_’;zyce XSG30380.00059 350-400 kW 52 84 93 644 UUT-05
Solutions _|_XZG3136000009 40 KW - 60 kW 15 40 66 41 | UUT-01A.B,.C
America Inc. | XSG30300.00090 30 kW 15 36 63 43 Interpolated
XSG31300.00013 40-60 KW 15 40 66 41 Interpolated
XSG21300.00038 80-125 kW Aluminum |32 48 80 74 | Interpolated
XSG21300.00042 150-200 kW 33 48 87 87 | Interpolated
XSG30380.00051 210-300 KW 46 56 85 177 UUT-04
XSG30380.00078 350-400 KW 52 84 93 263 | UUT-19AB
XS575300.00057 350-600 KW 52 84 92 262 | UUT-03AB

08/05/2025

OSP-0553

Page 8 of 59




Table 4 - Certified Subcomponents

Component

Weight

[MFR] Part/Model Number Notes Material [Ib] uuT
3029TFG89 20-30 kW 747 UuT-23
4045TF280 40-50 kW 916 Interpolated
4045HF280 60 kW 1,138 UUT-01A,B,C
4045HF285 80-125 kW 1,162 Interpolated

Engine 6068HF285 150 kKW Cﬁgiolﬁ;‘?:;u%‘St 1470 Interpolated
6068HFG85 180-200 kW o ’ 1,638 Interpolated

[ John Deere ] - Plastic, Brass,

6090HF484 Tier 3 230-275 kW Sl e 2,100 UuT-09

6090HFG86 Tier 3 300 kW 2,100 uuT-24

6090HFGO06 Tier 4 230-300 kW 2,420 UuUT-04

6135HFG84 Tier 3 350-400 kW 3,100 UUT-19A,B

6135HFGO06 Tier 4 350-400 kW 3,475 UUT-05
6R1600 200-300 kW 2,680 UuUT-02
8V1600 325-400 kW 3,400 Interpolated
10V1600 400-500 kW 3,860 Interpolated

Engine 12V1600 500-600 kW Carbon Steel, Cast 5,031 UUT-03A,B, 31

[ Rolls-Royce 12V1600+ 750 kW - 900 kW Iron, Aluminum, 4,388 UUT-21AB
Solutions America 162000 800 kW - 1250 kW Plastic, Brass, 6,395 UUT-06
Inc. ] 182000 1000 kW - 1250 kW Stainless Steel 7,188 UUT-07
12V4000 1250 kW - 1750 kW 14,167 Interpolated
16V4000 2000 kW - 2500 kW 17,977 Interpolated
20V4000 2500 kW - 3250 kW 22,255 UUT-08, 20A,B
Engine + Radiator TAD1641GE-B 450 - 500 kW (with radiator) Carbon Steel, Cast Iron, 3,825 Extrapolated
12 Aluminum, Plastic, Brass,
[ Volvo ]~ TAD1642GE-B 550 kW (with radiator) Stainless Steel 3,825 UUT-29AB
RS-7774 20 - 30 kW 77 UuT-23
Radiator RS-7612 40 - 50 kW Carbon Steel, 100 Interpolated
[ JB Radiator ] RS-7602 60 kW Aluminum, Copper 126 Interpolated
RS-7340 75 kW 200 UuUT-30
DR-2853 60 kW 125 UUT-01A,B,C
DR4903 80 - 100 kW 130 Extrapolated
DR3350 125 kW 135 Extrapolated
DR3347 150 kW 150 Extrapolated
DR3397 180-200 kW 175 Extrapolated
DR4273 650,--900 kW, 50C 1,921 Extrapolated
DR4212 900 - 1000 kW, 50C 2,050 UuUT-06
DR4286 1000 - 1250 kW, 40C 2,053 Interpolated
Radiators DR2837 1250 kW 50C - 1500 kW 40C Carbon Steel, 4,432 UUT-17AB
[ Diesel Radiator ] DR4450 1500 kW 50C Aluminum, Copper | 4,582 Interpolated
DR4449 1750 kW 50C 4,582 Interpolated
DR3091 1750 kW 40C 4,518 Interpolated
DR4083 2000 - 2500 kW 4,542 Interpolated
DR3361 2250 kW 50C 5,850 Interpolated
DR4276 2500 kW 45C 5,519 Interpolated
DR3102 2500 kW 20V 50C 5,477 Interpolated
DR3628 2800 kW - 3250 kW 42-48C 6,196 UUT-20A,B
DR3138 2800 kW - 3250 kW 50C 7,998 UuT-08
XSG30200.00008 210 - 300 kW Tier 3 490 UuUT-09, 24
Radiator XSG30200.00012 210 - 300 kW Tier 4 Carbon Steel 728 UuT-04
XSG30200.00010 275 - 400 kW Tier 3 . ’ 810 UUT-19A,B
[AKG ] - Aluminum, Copper
XSG30200.00011 300 - 400 kW Tier 4 852 UuUT-05
X57541100379 750 - 900 kW 1,367 UUT-21A,B
Radiator X54641100004 / X54641100005 1000 - 1250 KW, 50 Hz / 60 Hz Carbon Steel, 1,852 UUT-07
[ Nissens ] Aluminum, Copper
SUA91969 230 - 300 kW 500 uuT-02
. SUA98975 350 - 400 kW 540 Interpolated
Radiator SUA98809 450 - 500 KW CEnEe ) 835 Interpolated
[ Bearward ] Aluminum, Copper
X57520500097 550 - 600 kW 800 UUT-31
SUA98581 550 - 600 kW 875 UUT-03A,B
Alternator 4P6 Frame 1250 kW — 2800 kW Carbon Steel, Cast | 17,309 uuT-07
. . Iron, Aluminum,
(bt Ee )] 4P9 Frame 1250 KW — 3250 kW Copper 22,734 UUT-20A B
LSA 49.1 650 kW - 1250 kW 4,190 Extrapolated
LSA 49.3 650 kW - 1500 kW 4,200 UUT-21A,B
Alternators LSA 50.2 800 kW - 1500 kW Carbon Steel, Cast 7,598 UUT-06
LSA 52.3 1000 kW - 2000 kW Iron, Aluminum, 10,857 Interpolated
[ Leroy Somer ]
LS 641 1250 kW - 2250 kW Copper 11,298 Interpolated
LS 841 2000 kW - 3000 kW 12,187 Interpolated
LS 941 2500 kW - 3250 kW 19,347 UuUT-08
280 Frame 30-60 kW 670 Extrapolated
Alternators 360 Frame 30-60 kW Carbon Steel, Cast 1,000 UUT-01A,B,C
[ Marathon ] 430 Frame 75-600kW Iron,CAIuminum, 2,400 UuUT-02, 04, 09
opper UUT-03A,B, 05, 19A,B,
570 Frame 300-600kW 5,000 20A B, 31
180 Frame 30-60 kW 520 UuUT-23
Alternator 225 Frame 40-130 KW Cﬁ;ﬁfr}\ﬁrﬁkuﬁ‘s’t 1,040 Interpolated
[ Marelli ] 250 Frame 100-500 kW ,Copper ’ 1,730 Interpolated
315 Frame 180-500 kW 2,620 UuT-24
MGC-1500 Series 2 uuT-02, 07
Controller MGC-2000 Series Eac.:h controller is a depopulated version of the Carbon Steel, 5 UuT-09, 24
[ Rolls-Royce higher number controller. The boxes of the Aluminum, Copper UUT-03AB. 06. 08. 19AB
Solutions America 2000 and 3000 series are the same. The 1500 i, ’ 1Dy MY, VO, i
Inc. ] MGC-3000 Series series box is smaller. Plastic 6 04, 05, 20A, 21A,B, 23,
29A,B, 31
Notes:
1Volbjg,§g/§'@gis packaged with radiator therefore listed weight includes engine + radister yaight Page 9 of 59

2OnIy difference between TAD 1641GE-B and TAD 1642GE-B is a software change




Table 4 - Certified Subcomponents, Continued

Co[rrl\lonolg ¢]ant Part/Model Number Notes Material V\ﬁf]h t uuT
H Frame 150 Amp Max Rating 5 UuUT-09, 04, 20B, 23
J Frame 250 Amp Max Rating 5 UUT-01A,B,C, 02, 07, 04
L Frame 600 Amp Max Rating 14 UUT-02, 06, 09
Sl M Frame 800 Amp Max Rating Ami::iﬁ: S(::[iel,er 29 Interpolated
[ Square-D ] P Frame 1200 Amp Max Rating Plastic Ppen 32 U;;'OB?’AZ’E’ 2098:;39,30;1 '
R Frame 3000 Amp Max Rating 52 UUT-06, 21A,B
MTZ Frame 6000 Amp Max Rating 363 UUT-21A,B
NW Frame 6000 Amp Max Rating 363 UUT-05, 06, 19A,B, 20A
Breakers . Ca!rbon Steel,
SBN 4000 Amp Max Rating Aluminum, Copper, 319 UUT-20A
[ Eaton ] Plastic
SUA95894 200 Amp Single Phase UL 25 UUT-06
XG3030100673" 125 Amp Single Phase - UL 26 UUT-21A,B, 24, 29A B
PR XG3030100880" 125 Amp Single Phase - CSA 26 UUT-31
Distribution Panel X54530900042 150 Amp — 3 Phase - CSA Carbon Steel, 28 Interpolated
[ GE/ABB ] Copper, Plastic
SUA98651 150 Amp — 3 Phase — UL 28 Interpolated
X545309001382 200 Amp — Single Phase — CSA 45 Interpolated
X54530900025> 200 Amp — Single Phase — UL 45 UuT-07
SUA120299 12V Battery Wet 950 CCA 56 UUT-02, 03A,B, 07, 08
Battery SUA102493 12V Battery Wet 1050 CCA Cgrbon Steel, 100 UUT-21A,B, 31
[NAPA | SUA75486 12V Battery Wet 1155 CCA Aluminum, Qopper, 123 Interpolated
SUA71410 12V Battery Wet 1300 CCA Plastic 128 Interpolated
SUA102492 12V Battery Wet 1400 CCA 131 UuUT-06, 07, 08, 20A
Battery Heater SUA33218 200 Watt 120V Plastic, Copper, 1 UUT-08, 21A,B, 29A,B
[ Zero Start ] Aluminum
Carbon Steel, Cast
Battery Charger 28106 BA Iron, Aluminum, 4 UuT-23
Lt Co Plastic
pper,
: . UUT-01A,B,C, 06, 09, 19A,B,
MicroGenius 2 <15A 6 04, 05, 24, 29A.B, 31
Battery Charger M?croGen?us S2 >15A <30A Carbon Stegl, Cast 13 UUT-06
[ SENS ] MicroGenius S4 >30A <60A Iron, Alumlnum, 32 UUT-20A
NRG22 10A Copper, Plastic 23 UUT-01A,B,C, 02, 06
NRG24 10A-20a 44 UUT-03A,B, 06, 21A,B
EnerGenius 1Q 35A 130 UUT-08, 10A,B
Battery Charger XG3130100003 6A - 4 UuUT-27
[ Marinco ]
Carbon Steel, Cast
o ey Selpe e BBS-4800 Best Battery Selector Iron, Aluminum, 55 UUT-11A,B, 20A
e Co Plastic
pper,
Battery Disconnect 1250 kW - 3250 kW Carbon Steel, Cast
[ Flaming River ] SUA103773 Pad Lockable Iron, Plastic 1 uuT-08
Battery Disconnect 5510e Pad Lockable Carbon Steel, Cast 3 UUT-06
[ Blue Sea ] HD3001 uL Iron, Plastic UUT-20A,B, 21A,B
SUA40198 30 kW 2 UUT-01A,B,C, 23
SUA106417 40 - 60 kW 5 Interpolated
SUA91568 80-125 kW 13 Interpolated
Air Filters SUA92550 150-200 kW Carbon Steel, 35 Interpolated
SUA86885 200-600 kW Aluminum, Plastic, 5 UuUT-02, 04, 09, 31
[ Donaldson ]
XG3012100019 350-400 kW Paper 7 Interpolated
SUA90069 650-3250 kW 7 UUT-06, 08, 20A,B, 29A,B
SUA89974 1600+ — S2000 47 UUT-21A,B
X00024740 S4000 — Heavy Duty 83 UUT-08
SUAT77168 PA2806 5 uuT-27
Air Filter SUA77169 PA2831 Alfnf{:f:q SFt,f:S"ﬁC 6 Interpolated
[ Baldwin ] SUA77167 PA2830 P ap’er ’ 6 Interpolated
SUAT77166 PA2826 6 UuUT-28
Air Filters SUA96271 230-600kW Carbon Steel,. 31 UUT-03A,B, 19A,B, 24
[ Vortox | SUA79695 450-500kW Aluminum, Plastic, 50 Interpolated
XG3012100036 300-400 kW Paper 51 UUT-05
TPS 500 W 120V 2 UuUT-23
TPS 1000 W 120V 2 Interpolated
TPS 1500 W 120V 2 UUT-01A,B,C
208V UuUT-9
CB/WL 2500 W 240V e Sinal G 7 UuUT-24
Jacket Water Heaters 480V Iron, Stainless’ Steel, UUT-04
[ Kim Hotstart ] AU Brass, Copper, ULy 0
CL/WL 4000 W 240V Plastic 10 UUT-29A,B
480V UUT-19A,B
208V Interpolated
CL/WL 5000 W 240V 15 UUT-31
480V UUT-3A,B
CSMA / CSMB Single / Three Phase 33 UUT-06, 07, 08, 20A, 21A,B

Notes:
"Distribution Panel XG3030100673 is discontinued and replaced with XG3030100880

“Distribution Panel X54530900025 is discontinued and replaced with X54530900138

08/05/2025 OSP-0553 Page 10 of 59



Table 4 - Certified Subcomponents, Continued

Component

Weight

[MFR] Part/Model Number Notes Material [Ib] uuT
SUA100603 Single 5 UuT-04
SUA100604 Switchable/Dual 17 UUT-05, 24
73/1000FH [10 Micron 360GPH] No
SUA101091 Valves Non-Switchable 2-Bowl 26 Interpolated
SUA90831 77/1000FH 30 Micron 540GPH c s c 39 UUT-12A,B
: SUAB89332 79/1000FHV [540GPH] with Valves | Carbon Steel, Cast = Interpolated
Fuel Filters ~9/1000FHY 10 Mi 540GPH] with Iron, Stainless Steel,
[ Racor] SUA102925 Micron [ Jwi Brass, Copper, 52 UUT-06
Valves Switchable 3-Bowl Plastic. Glass
500FG Single Filter; 60 GPH , 6 Interpolated
75/500 FGX Double Filter; 60 GPH 17 UUT-29A,B
1000FV10 Single Filter; 180 GPH 11 UUT-22A,B
751000FV10 Double Filter; 360 GPH 24 Interpolated
791000FV10 Triple Filter; 540 GPH 36 UUT-22A,22B
Fuel Filters Carbon Steel, Cast Iron,
X52808300057 Automatic switchable Stainless Steel, Brass, 92 UuT-08, 20A
[ Separ] Copper. Plastic. Glass
- HDP Single Carbon Steel, Cast Iron, 20 UUT-21A.B
Fuel Filters HDP Single bank Stainless Steel, Brass, 26 UuT-20B
[Hydec] HDPD Dual bank with valve Copper, Plastic, Glass 65 UUT-20B, 31
. Carbon Steel, Cast Iron,
Fuel Monitor System CMS-2M-MTU iFuel monitor and flow meter assembly| Stainless Steel, Brass, | 250 UUT-22AB
[ ESI] Copper, Plastic, Glass
Carbon Steel, Cast Iron,
UL SUA106526 Differential pressure gauge Stainless Steel, Brass, 2 UuT-08
[ Orange Research ] Plastic, Glass
Fuel Lift Pump SUA104114 Model N991-32 Carbon Steel, Cast 24 UuT-08
[ Oberdorfer ] X52808800041 Model N991R-32 Iron, Brass, Copper 24 UUT-20A,B
Carbon Steel, Cast
SUA88183 LM30X Model ’ 5 UuT-08
Oil Leveler ode Iron, Stainless Steel,
[ Murphy ] Brass, Copper,
SUA104347 L150 Model Plastic, Glass 3 UUT-06
. Carbon Steel, Cast Iron,
R X52864300002 108B-015 EX Stainless Steel, Brass, 10 UUT-18A,B
[ Garzo ] Copper, Plastic, Glass
Oil Tank
SUA99641 30 gall 26 UUT-13B
[ Rolls-Royce gaton Carbon Steel,
Solutions America Aluminum
Inc. ] X54941400001 30/ 45 gallon 84 UUT-20B
. X52818100016 DC prelube pump 35 UuT-08
Oil Pump X59618100027 AC small prelube pump GBS O 70 UUT-14A,B
[ RPM Industries ] Iron, Copper, Plastic
X59418100009 AC large prelube pump 63 UUT-15A,B
Oil Sampling Port
[ Rolls-Royce KP Pushbutton 1250 KW - 3250 kW Stainless Steel 1 UUT-08
Solutions America
Inc. ]
Pyrometer Carbon Steel, Stainless
[ OMEGA ] X54830900040 1250 kW - 3250 kW Steel, Copper, Plastic 1 UuT-08
. Carbon Steel, Cast Iron,
et SUA84207 1250 kW - 3250 kW Stainless Steel, Brass, | 20 UUT-08
[ Donaldson ] Copper, Plastic, Glass
V'bm'l‘l’:'pﬁ;"]'t"h SUA77324 Shock/Vibration Control Switch ﬁi;b‘;,’;assfce"elcaf‘st 10 UUT-08
SUA98915 4" Inlet, 14" Dia. 33 Extrapolated
SUA98922 5" Inlet, 14" Dia. 31 Interpolated
SUA99120 4" Inlet, 18" Dia. 64 Interpolated
SUA99121 4" Inlet, 18" Dia. 64 Interpolated
XG3041700064 5.75" inlet, 12" Dia. 59 UUT-09, 19A,B
Carbon Steel XG3041700070 5.75" inlet, 12" Dia. 104 UUT-09, 19A,B
a;“::ceree SUA97987 5" Inlet, 18" Dia. Carbon Steel 64 UUT-03AB
[ Miratech | SUA97988 5" Inlet, 18" Dia. 64 UUT-03A,B
X57514500032 5" Inlet, 18" Dia., LH 64 UUT-31
X57514500033 5" Inlet, 18" Dia., RH 64 UuUT-31
SUA101916 5" Inlet, 18" Dia. 71 UuT-02
XG3041700170 8" Inlets, 14" Dia. 162 UUT-29A B
X54441700010 8" Inlets, 12" Dia. 935 Interpolated
X54514500013 8" Inlets, 14" Dia. 1,091 UuUT-06
SUA105562 3 1/2" Inlet, 8" Dia. 17 Extrapolated
Carbon Steel SUA98922 5" Inlet, 25.5" Dia. 31 Extrapolated
arbon Stee SUA98915 4" Inlet, 23.5" Dia. 33 Extrapolated
Silencer - Carbon Steel
- XZG3114000002 3 1/2" Inlet, 14" Dia. 42 UUT-01A,B,C
[ Phillips & Temro ] -
SUA105163 3.5" Inlet, 23" Dia. 42 Interpolated
SUA107750 2.5" Inlet, 14.25" Dia. 44 UuUT-23
SCR 5" inlet, 15" Dia. ; 126 UUT-04, 05, 25, 26
3 ’ Carbon Steel, Stainless ) ) )
Aftertreatment DOC 5" inlet, 13" Dia. Steel, Copper, Ceramics, 106 UUT-04, 05, 25, 26
[ John Deere ] DEF tank 230-400 KW Tier 4 Aluminum, Plastic 20 UUT-04, 05

Notes:

3UUT-04, -05 aftertreatment system is enclosure mounted. UUT-25, -26 is skid stand mounted.

08/05/2025

OSP-0553

Page 11 of 59




Table 4 - Certified Subcomponents, Continued

CTRAPFo; t]ant Part/Model Number Notes Material V\ﬁ:g? t uuT
Diesel Particulate
Filter CRT(+)-6-N-CS-SITO-D8/14-LP 650-900 kW Carbon Steel 1,859 UUT-21A,B
[ Johnson Matthey ]
XG2130900005 LED Lighting 1 UUT_mA’BégA?g’ 07,21AB,
E"C';s:re;'ght'"g XS572500.00268 Lighting Kit (AC / DC) Carbon Steel, 20 UUT-02
s [ Rolls-Royce XS575340.00209 Lighting Kit (AC / DC) Aluminum, Copper, | 32 UUT-03AB
olutions America  r— - .
Inc. ] XS575340.00226 Lighting Kit (AC / DC) Plastic, Glass 24 UUT-03A,B
XSG30300.02441 210-300 T3 Lighting Kit 18 UUT-09, 04
XSG30300.02442 275-400 T3 Lighting Kit 18 UUT-19A,B, 05
[f(?:;";'l':::z] XG3006100004 Space Heater o e pioate | 12 |UUT-08,04, 05, 21A,B, 29A8
Motorized Louver Carbon Steel,
[RRSA] XSG30300.00091 30 kW Aluminum 33 UuUT-23
XG3062300147 210-400 kW T3 105 UUT-09, 19A,B, 04, 05
SUA86672 350 kW - 600 kW 121 UUT-03A,B
Motorized Louver XG3062300536 450 - 500 kW Carbon Steel, 293 UUT-29A,B
[ Vent Products ] XG4862300041 550-600 kW Aluminum 315 UUT-31
X54512300031 650 kW - 1250 kW 408 UuT-07
X57562300171 1600+ 750 kW - 900 kW 419 UUT-21A,B
SUA105126 30 kW 11 UuUT-23
XG3062300148 210-300 kW 19 Interpolated
SUA97655 80-100 kW 25 Interpolated
XG3062300542 450 - 500 kW 26 UUT-29A,B
SUA105127 35-50 kW 27 Interpolated
SUA105494 60 kW 27 Interpolated
Gravity Louver XG4862300041 550-600 kW Carbon Steel, 315 UUT-31
[ Vent Products ] SUA97658 150-200 kW Aluminum 35 Interpolated
SUA97658 125 kW 35 Interpolated
X57562300173 1600+ 750 kW - 900 kW 62 UUT-21A,B
SUA88231 350 kW - 600 kW 220 UUT-03A,B
X54412300111 650 kW - 900 kW 277 Interpolated
X54512300029 1000 kW - 1250 kW 300 UUT-06
X54612300020 1250 kW 313 UuT-07
S e XG3062300148 210-300 kW T3 Carbon Steel 19 UuUT-09
XG3062300391 210-300 kW T4 . ’ 19 UuUT-04
[ RRSA] Aluminum
XG3062300263 275-400 kW T3 / T4 30 UUT-19A,B, 05
XG3041200101 40 Gallon Tank 393 Extrapolated
XG3041200072 70 Gallon Tank 510 Extrapolated
XG3041200073 140 Gallon Tank 685 Extrapolated
XG3041200084 140 Gallon Tank 805 Extrapolated
XG3041200263 210 Gallon Tank 875 UUT-23
XG3041200074 210 Gallon Tank 815 Interpolated
XG3041200252 238 Gallon Tank 1,625 Interpolated
XG3041200085 250 Gallon Tank 1,015 Interpolated
XG3041200128 265 Gallon Tank 1,582 Interpolated
XG3041200193 265 Gallon Tank 1,550 Interpolated
XG3041200211 265 Gallon Tank 1,910 UUT-04
XG3041200192 350 Gallon Tank 1,930 Interpolated
XG3041200086 370 Gallon Tank 1,275 Interpolated
XSG30070.00023 370 Gallon Tank 1,448 UUT-01B,C
XG3041200245 372 Gallon Tank 2,076 Interpolated
XG3041200276 430 Gallon Tank 2,720 Interpolated
XG3041200253 475 Gallon Tank 2,205 Interpolated
X57541200171 500 Gallon Tank 2,461 Interpolated
X57541200260 500 Gallon Tank 3,122 Interpolated
XS572360.00018 525 Gallon Tank 2,220 UuUT-02
XG3041200130 530 Gallon Tank 2,099 Interpolated
XG3041200132 530 Gallon Tank 2,692 Interpolated
Fuel Tank XG3041200187 530 Gallon Tank 2,210 UUT-09
[ Rolls-Royce XG3041200188 530 Gallon Tank Carbon Steel 2,560 Interpolated
Solutions America XG3041200209 540 Gallon Tank 2,240 Interpolated
[z ] XG3041200210 540 Gallon Tank 2,560 Interpolated
XG3041200216 550 Gallon Tank 2,600 Interpolated
XG3041200217 550 Gallon Tank 3,250 Interpolated
XG3041200254 570 Gallon Tank 2,451 Interpolated
XG3041200246 570 Gallon Tank 2,554 Interpolated
XG3041200186 650 Gallon Tank 3,210 Interpolated
XG3041200191 650 Gallon Tank 2,780 Interpolated
X57541200172 650 Gallon Tank 2,763 Interpolated
X57541200261 650 Gallon Tank 3,322 Interpolated
XG3041200182 700 Gallon Tank 2,630 Interpolated
XG3041200183 700 Gallon Tank 3,250 Interpolated
XG3041200255 713 Gallon Tank 2,744 Interpolated
XG3041200256 850 Gallon Tank 3,191 Interpolated
XG3041200247 850 Gallon Tank 3,279 Interpolated
XG3041200275 860 Gallon Tank 3,420 Interpolated
XG3041200274 860 Gallon Tank 3,790 Interpolated
X57541200173 1000 Gallon Tank 3,319 Interpolated
X57541200262 1000 Gallon Tank 3,838 Interpolated
X57541200174 1000 Gallon Tank 3,925 Interpolated
X57541200263 1000 Gallon Tank 4,341 Interpolated
XG3041200134 1060 Gallon Tank 3,546 Interpolated
08/05/2025 XG3041200189 106QHyGaligsTank 3,630 Inigspqlatedy




Table 4 - Certified Subcomponents, Continued

Component

Weight

[MFR] Part/Model Number Notes Material [Ib] uuT
XG3041200248 1116 Gallon Tank 4,004 Interpolated
XG3041200184 1400 Gallon Tank 4,270 Interpolated
XG3041200190 1590 Gallon Tank 4,950 Interpolated
XG3041200136 1590 Gallon Tank 4,750 Interpolated
XG3041200273 1720 Gallon Tank 5,010 Interpolated
XG3041200265 1900 Gallon Tank 4,891 UuT-24
X57541200175 2000 Gallon Tank 5,534 Interpolated
X57541200264 2000 Gallon Tank 5,571 Interpolated
XG3041200185 2100 Gallon Tank 5,410 UUT-19A
XG3041200212 2100 Gallon Tank 6,230 UuUT-05
XG3041200271 2580 Gallon Tank 6,780 UUT-29A,B
XG3041200270 2580 Gallon Tank 6,830 Interpolated
XS575360.00040 3000 Gallon Tank 7,280 UUT-3A
X57541200265 3000 Gallon Tank 7,324 Interpolated
650 Gallon Tank
X57541200235, X57541200236 SB. EXT: NF, 10HR - 12V1600+ 4,181 Interpolated
X57541200231, X57541200237, 1515 Gallon Tank
Fuel Tank X57541200241 SB, EXT; NF, 24HR - 12V1600+ a2 SO
uel fan 3030 Gallon Tank
[ Rf)lls-Royce_ X57541200238 EXT: NF, 48HR - 12V1600+ Carbon Steel 7,468 Interpolated
Solutions America
Inc. ] X54541200003, X54541200006,
X54541200009, X54541200018, 1100 Gallon Tank
X54541200021, X54541200024, SB, EXT; HSD L1/L2, L3; NF, WF, 8459 Interpolated
X54541200027, X54541200030, NASS/SULF, San Fran, 12HR 1100 ’
X54541200033, X54541200037, GL-16V2000
X54541200040, X54541200043
X54541200004, X54541200007,
X54541200010, X54541200017,
X54541200019, X54541200022, | o EXTz_Zl_?gDGf:';’L”szg_kNF WE
X54541200025, X54541200028, NAéS/SLjLF San Fra,n 2,4HF\; 2206 9,977 UuUT-06
X54541200031, X54541200034, G’L_1 6V2006
X54541200038, X54541200041,
X54541200044
X54541200005, X54541200008,
X54541200011, X54541200020, 4400 Gallon Tank
X54541200023, X54541200026, SB, EXT; OPU, L1/L2, L3; NF, WF, 13.586 UUT-07
X54541200029, X54541200032, NASS/SULF, San Fran, 48HR 4400 ’
X54541200035, X54541200036, GL-16V2000
X54541200039, X54541200042
08/05/2025 OSP-0553 Page 13 of 59




UUT Summary Document

Ratin Test | Test Report Test Report Year Mountin Sps | Sbs

uuT Model Number [kw‘]il Lab Writtenpby Numbzr Tested Configurat?on 2/h=0 | z/h=1
1A mtu 4R0113 DS60 60 ETL ETL 13376 2014 Isolated 2.5 2.0
1B mtu 4R0113 DS60 60 ETL ETL 13376 2014 Rigid on Tank 2.5 2.0
1C mtu 4R0113 DS60 60 ETL ETL 13376 2014 | Isolated on Tank | 2.5 2.0
2 mitu 6R1600 DS300 300 | PEER PEER PEER-STI/2015-17 | 2015 Rigid on Tank 2.5 2.0
3A mtu 12V1600 DS600 600 | PEER PEER PEER-STI/2015-17 | 2015 | Isolated on Tank | 2.5 2.0
3B mtu 121600 DS600 600 | PEER PEER PEER-STI/2015-17 | 2015 Isolated 2.5 2.0
4 mtu 6R0150 DS300 300 | PEER DCL 31218-2001 2020 | Isolated on Tank | 2.5 2.5
5 mitu 6R0225 DS400 400 | PEER DCL 31218-2001 2020 | Isolated on Tank | 2.5 2.5
6 mtu 162000 DS1250 1250 [ CERL DCL 30245-1701 2017 | Isolated on Tank | 2.5 2.0
7 mtu 182000 DS1250 1250 | CERL DCL 31142-1901 2019 | Isolated on Tank | 2.5 2.0
8 mtu 20V4000 DS3250 3250 | CERL DCL 30245-1701 2017 Isolated 2.5 2.0
9 mtu 6R0150 DS275 275 | PEER DCL 30889-1801b 2019 Rigid on Tank 2.5 2.0
10A SUA105039 - PEER DCL 30673-1801 2018 Isolated 2.5 2.0
10B SUA105039 - PEER DCL 30673-1801 2018 Rigid 2.5 2.0
11A BBS-4800 - PEER DCL 30673-1801 2018 Isolated 2.5 2.0
11B BBS-4800 - PEER DCL 30673-1801 2018 Rigid 2.5 2.0
12A SUA190831 - PEER DCL 30673-1801 2018 Isolated 2.5 2.0
12B SUA190831 - PEER DCL 30673-1801 2018 Rigid 2.5 2.0
13B XS596300.0037 - PEER DCL 30673-1801 2018 Rigid 2.5 2.0
14A X59618100027 - PEER DCL 30673-1801 2018 Isolated 2.5 2.0
14B X59618100027 - PEER DCL 30673-1801 2018 Rigid 2.5 2.0
15A X5941810009 - PEER DCL 30673-1801 2018 Isolated 2.5 2.0
15B X5941810009 - PEER DCL 30673-1801 2018 Rigid 2.5 2.0
17A DR2837 - PEER DCL 30673-1801 2018 Isolated 2.5 2.0
17B DR2837 - PEER DCL 30673-1801 2018 Rigid 2.5 2.0
18A X52864300002 - PEER DCL 30673-1801 2018 Isolated 2.5 2.0
18B X52864300002 - PEER DCL 30673-1801 2018 Rigid 2.5 2.0
19A mitu 6R0225 DS400 400 | PEER DCL 30889-1801b 2019 Rigid on Tank 2.5 2.0
19B mtu 6R0225 DS400 400 | PEER DCL 30889-1801b 2019 Isolated 2.5 2.0
20A| mtu 20V4000 DS3250 3250 | CERL DCL 30837-1801 2018 Isolated 2.5 2.0
20B mtu 20V4000 DS3250 3250 | CERL DCL 30837-1801 2018 Rigid 2.5 2.0
21A mtu 121600 DS900 900 | PEER DCL 16322-2101 2021 | Isolated on Tank | 2.5 2.0
21B mtu 12V1600 DS900 900 | PEER DCL 16322-2101 2021 Rigid on Tank 2.5 2.0
22A | Skid with Subcomponents - DCL DCL 20479-2201 2023 Rigid 2.5 2.0
22B | Skid with Subcomponents - DCL DCL 20479-2201 2023 Isolated 2.5 2.0
23 mtu 3R0096 DS30 30 PEER DCL 24818-2401 2024 Rigid on Tank 2.5 2.0
24 mtu 6R0225 DS300 300 | PEER DCL 24818-2401 2024 | Isolated on Tank | 2.5 2.0
25 OPU 6090 Tier 4 - PEER DCL 31218-2001 2020 Rigid 2.5 2.5
26 OPU 6135 Tier 4 - PEER DCL 31218-2001 2020 Isolated 2.5 2.5
27 10V0068 GS75 75 DCL DCL 11441-1501 2015 Rigid 2.5 2.0
28 GG04RF025V2 30 DCL DCL VMA-49667-01E 2017 Isolated 2.5 2.0
29A mitu 6R0269 DS500 500 | PEER DCL 25108-2401 2025 Rigid on Tank 2.5 2.0
29B mtu 6R0269 DS500 500 | PEER DCL 25108-2401 2025 | Isolated on Tank | 2.5 2.0
30 mtu 10V0068 GS75 75 PEER DCL 30889-1801a 2019 Isolated 2.5 2.0
31 mtu 12V1600 DS600 600 | PEER DCL 24919-2401 2025 Isolated 2.5 2.0

08/05/2025 OSP-0553 Page 14 of 59




VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UUT-1A

Test Report: ETL 13376

Model Line

Model Number

Manufacturer

4R0113

mtu 4R0113 DS60

Rolls-Royce Solutions America Inc.

Product Construction Summary

Aluminum Enclosure

Options / Subcomponent Summary

Engine: John Deere; Alternator: Marathon; Radiator: Diesel Radiator; Enclosure: Rolls-Royce Solutions America Inc.; Scoop: Rolls-
Royce Solutions Inc.; Silencer: Phillips & Temro; Air Filter: Donaldson; Jacket Water Heaters: Kim Hotstart; Breakers: Square-D;
Battery: Exide; Battery Charger: SENS; Lighting Kit: Rolls-Royce Solutions America Inc.

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
6,183 101.0 40.0 66.0 4.0 4.8 8.0
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 = el s =20 240 - -
2.50 0.0 1.5 - - 1.68 0.68

Test Mounting Details

8 bolts.

UUT-1A was isolated using (6) Total: VMC Group (2) MSSH-1E-825N & (4) MSSH-1E-1000 spring isolators. The isolators were
connected to the equipment using (1) 5/8 Grade 8 bolt each, and were connected to the shake table using (24) 5/8" diameter Grade

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 0748;8-;%8%%—838—1780-Fax: 973—492-8430-vvwwthevmcgroup.cclz_;gge 15 of 59




VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UuUT-1B

Test Report: ETL 13376

Model Line

Model Number

Manufacturer

4R0113

mtu 4R0113 DS60

Rolls-Royce Solutions America Inc.

Product Construction Summary

Aluminum Enclosure, Carbon Steel Fuel Tank

Options / Subcomponent Summary

Fuel Tank: RRSA; Engine: John Deere; Alternator: Marathon; Radiator: Diesel Radiator; Enclosure: Rolls-Royce Solutions America
Inc.; Scoop: Rolls-Royce Solutions Inc.; Silencer: Phillips & Temro; Air Filter: Donaldson; Jacket Water Heaters: Kim Hotstart;
Breakers: Square-D; Battery: Exide; Battery Charger: SENS; Lighting Kit: Rolls-Royce Solutions America Inc.

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
7,841 127.5 47.5 97.0 5.9 31.3 13.3

UUT Highest Passed Seismic Run Information

Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v

CBC 2022 ICC-ES AC156 = el s =20 240 - -
2.50 0.0 1.5 - - 1.68 0.68

Test Mounting Details

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

UUT-1B was rigidly mounted to the fuel tank using (6) 5/8" diameter Grade 8 bolts. The tank was rigidly connected to the shake
table using (8) 5/8" Grade 8 bolts.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 0748;8-;%8%%—838—1780-Fax: 973—492-8430-vvwwthevmcgroup.cclz_;gge 16 of 59




VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UuT-1C

Test Report: ETL 13376

Model Line

Model Number

Manufacturer

4R0113

mtu 4R0113 DS60

Rolls-Royce Solutions America Inc.

Product Construction Summary

Aluminum Enclosure, Carbon Steel Fuel Tank

Options / Subcomponent Summary

Fuel Tank: RRSA; Engine: John Deere; Alternator: Marathon; Radiator: Diesel Radiator; Enclosure: Rolls-Royce Solutions America
Inc.; Scoop: Rolls-Royce Solutions Inc.; Silencer: Phillips & Temro; Air Filter: Donaldson; Jacket Water Heaters: Kim Hotstart;
Breakers: Square-D; Battery: Exide; Battery Charger: SENS; Lighting Kit: Rolls-Royce Solutions America Inc.

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
8,024 127.5 47.5 97.0 3.7 4.2 7.9
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 = el s =20 240 - -
2.50 0.0 1.5 - - 1.68 0.68

Test Mounting Details

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

UUT-1C was isolated using (6) total: VMC Group (2) MSSH-1E-825N & (4) MSSH-1E-1000 spring isolators. The isolators were
connected to the equipment using (6) 5/8" Grade 8 bolts, and were connected to the tank using (4) 5/8" diameter Grade 8 bolts per
isolator. The tank was rigidly connected to the shake table using (8) 5/8" Grade 8 bolts.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 0748;8-;%8%%—838—1780-Fax: 973—492-8430-vvwwthevmcgroup.cclz_;gge 17 of 59




UNIT UNDER TEST (UUT)
Summary Sheet

UUT 2

PEER STI 2015-17; UUT 7

Model Line Model Number Manufacturer
1600 mtu 6R1600 DS300 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid, Carbon Steel Enclosure, Carbon Steel Tank

Options / Subcomponent Summary

Engine: Rolls-Royce Solutions America Inc.; Alternator: Marathon; Radiator: Bearward; Enclosure: Rolls-Royce Solutions America
Inc.; Enclosure Scoop: Rolls-Royce Solutions America Inc.; Fuel Trank: Rolls-Royce Solutions America Inc.; Silencer: Miratech; Air
Filter: Donaldson; Controller Rolls-Royce Solutions America Inc.; Jacket Water Heater: Kim-Hotstart; Breakers: Square D; Battery:
Napa; Battery Charger: SENS; Gravity Louvers: Rolls-Royce Solutions America Inc.; Lighting Kit: Rolls-Royce Solutions America
Inc.

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
11,430 230 84 135 5.1 4.9 13
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC158 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

JUUT-02 was attached to fuel tank using (12) 5/8" grade 8 bolts. Fuel tank was attached to the fixture using (12) 5/8" grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 18 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 3a

PEER STI 2015-17; UUT 8A

Model Line Model Number Manufacturer
1600 mtu 12V1600 DS600 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid, Carbon Steel Enclosure, Carbon Steel Tank

Options / Subcomponent Summary

Fuel Tank: RRSA; Engine: Rolls-Royce Solutions America Inc.; Alternator: Marathon; Radiator: Bearward; Enclosure: Rolls-Royce
Solutions America Inc.; Scoop: Rolls-Royce Solutions America Inc.; Fuel Tank: Rolls-Royce Solutions America Inc.; Silencer:
Miratech; Air Filter: Vortox; Controller: Rolls-Royce Solutions America Inc.; Jacket Water Heater: Kim-Hotstart; Breakers: Square D;
Battery: Napa; Battery Charger: SENS; Lighting Kit: Rolls-Royce Solutions America Inc.; Motorized Louver: Vent Products

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
44,980 330 84 150 3.3 3.7 5.1
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC158 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-03a was externally isolated to the fuel tank using (10) VMC MSSH-3C spring isolators. Spring isolators were attached to the
fuel tank using (40) 5/8" grade 8 bolts. Fuel tank was connected to the fixture using (20) 5/8" grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 19 of 59




UNIT UNDER TEST (UUT)
Summary Sheet

UUT 3b

PEER STI 2015-17; UUT 8B

Model Line Model Number Manufacturer
1600 mtu 12V1600 DS600 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

ICarbon Steel Skid, Carbon Steel Enclosure

I Options / Subcomponent Summary

Inc.; Scoop: Rolls-Royce Solutions America Inc.; Silencer: Miratech; Air Filter: Vortox; Controller: Rolls-Royce Solutions America
Inc.; Jacket Water Heater: Kim-Hotstart; Breakers: Square D; Battery: Napa; Battery Charger: SENS; Lighting Kit: Rolls-Royce
Solutions America Inc.; Motorized Louver: Vent Products

|Engine: Rolls-Royce Solutions America Inc.; Alternator: Marathon; Radiator: Bearward; Enclosure: Rolls-Royce Solutions America

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
14,780 270 84 100 29 3.7 4.9
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

JUUT-03b was externally isolated using (10) VMC MSS-3E spring isolators. Spring isolators were attached to the fixture using (40)
3/4" grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 20 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UuT-4

VMC GROUP

Test Report: DCL 31218-2001; UUT-11

Model Line Model Number Manufacturer

6R0150 mtu 6R0150 DS300 Rolls-Royce Solutions America Inc.

Product Construction Summary

Aluminum Enclosure, Carbon Steel Fuel Tank

Options / Subcomponent Summary

Fuel Tank: RRSA; Engine: John Deere; Alternator: Marathon; Radiator: AKG; Enclosure: Rolls-Royce Solutions America Inc.;
Scoop: Rolls-Royce Solutions Inc.; Air Filter: Donaldson; Jacket Water Heaters: Kim Hotstart; Breakers: Square-D; Battery: Exide;
Battery Charger: SENS; Fuel Filter: Racor; Aftertreatment (SCR, DOC, DEF Tank): John Deere; Lighting Kit: Rolls-Royce Solutions
America Inc.; Space Heater: King Electric; Motorized Louver: Vent Products; Gravity Louver: Vent Products

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
12,135 190.0 62.0 121.0 35 4.5 7.5
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 == el s =20 3.00 _ _
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-4 was isolated using (8) VMC Group M2SSH-1E-2000 spring isolators. The isolators were connected to the equipment using
(8) 3/4" Grade 5 bolts, and were connected to the tank using (4) 5/8" diameter Grade 8 bolts per isolator. The tank was rigidly
connected to the shake table using (8) 5/8" Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VM =113 Main S Bloomi le, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430+ .th ;
08/05/2025 e VMC Group =113 Main Street, Bloomingdale, NJ 0 gsg,e_ogg% 38 0=Fax: 973-49 30 vvwvvtevmcgroupcc'z_;gge21 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT-5

VMC GROUP

Test Report: DCL 31218-2001; UUT-12

Model Line Model Number Manufacturer

6R0225 mtu 6R0225 DS400 Rolls-Royce Solutions America Inc.

Product Construction Summary

ICarbon Steel Enclosure, Carbon Steel Fuel Tank

I Options / Subcomponent Summary

Fuel Tank: RRSA; Engine: John Deere; Alternator: Marathon; Radiator: AKG; Enclosure: Rolls-Royce Solutions America Inc.;
Scoop: Rolls-Royce Solutions Inc.; Air Filter: Vortox; Jacket Water Heaters: Kim Hotstart; Breakers: Square-D; Battery: Exide;
Battery Charger: SENS; Fuel Filter: Racor; Aftertreatment (SCR, DOC, DEF Tank): John Deere; Lighting Kit: Rolls-Royce Solutions
America Inc.; Space Heater: King Electric; Motorized Louver: Vent Products; Gravity Louver: Vent Products

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
36,093 296.0 90.0 140.0 35 3.5 6.5
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 == el s =20 3.00 _ _
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-5 was isolated using (8) VMC Group M2SSH-1E-2400N spring isolators. The isolators were connected to the equipment using
(8) 3/4" Grade 5 bolts, and were connected to the tank using (4) 5/8" diameter Grade 8 bolts per isolator. The tank was rigidly
connected to the shake table using (12) 5/8" Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VM =113 Main S Bloomi le, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430+ .th ;
08/05/2025 e VMC Group =113 Main Street, Bloomingdale, NJ 0 gsg,e_ogg% 38 0=Fax: 973-49 30 vvvvvvtevmcgroupcc'z_;gge220f59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 6

DCL Test Report: 30245-1701

Model Line Model Number Manufacturer
2000 mtu 16V2000 DS1250 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid, Carbon Steel Enclosure, Carbon Steel Tank

Options / Subcomponent Summary

Engine: Rolls-Royce Solutions America Inc.; Alternator: Leroy Somer: Radiator: Diesel Radiator; Controller: Rolls-Royce Solutions
America Inc.; Enclosure: Rolls-Royce Solutions America Inc.; Fuel Tank: Rolls-Royce Solutions America Inc.; Air Filters: Donaldson;
Battery: NAPA; Battery Charger: SENS; Battery Disconnect: Blue Sea; Fuel Filters: Racor; Breakers: Square D; Oil Leveler: Murphy;
Silencer: Miratech; Enclosure Lighting: Rolls-Royce Solutions America Inc.; Space Heater: King Electric; Gravity Louver: Vent
Products; Distribution Panel: Rolls-Royce Solutions America Inc.; Jacket Water Heaters: Kim-Hotstart

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
66,050 420 109 176 4 2 8
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -
Test Mounting Details

UUT-06 was externally isolated using (18) VMC M2SSH-1E-3200N spring isolators. Isolators were attached to the generator skid
using (18) 3/4" grade 8 bolts. Isolators were attached to the tank using (72) 5/8" grade 8 bolts and tank was attached to the fixture
using (20) 3/4" grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 23 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT7

DCL Test Report: 31142-1901

Model Line Model Number Manufacturer
2000 mtu 18V2000 DS1250 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid, Aluminum Enclosure, Carbon Steel Tank

Options / Subcomponent Summary

Engine: Rolls-Royce Solutions America Inc.; Alternator: Kato Engineering: Radiator: Nissens; Enclosure: Rolls-Royce Solutions
America Inc.; Fuel Tank: Rolls-Royce Solutions America Inc.; Air Filters: Donaldson; Battery: NAPA; Silencer: Miratech; Enclosure
Lighting: Rolls-Royce Solutions America Inc.; Space Heater: King Electric; Gravity Louver: Vent Products; Distribution Panel: Rolls-
Royce Solutions America Inc.; Jacket Water Heaters: Kim-Hotstart; Controller: Rolls-Royce Solutions America Inc. ; Motorized
Louver: Vent Products

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
84,220 412 111 179 4 3 8
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -
Test Mounting Details

UUT-07 was externally isolated using (18) VMC M2SSH-1E-3400N spring isolators. Isolators were attached to the generator skid
using (18) 3/4" grade 8 bolts. Isolators were attached to the tank using (72) 5/8" grade 8 bolts and tank was attached to the fixture
using (22) 7/8" grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 24 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 8

DCL Test Report: 30245-1701

Model Line Model Number Manufacturer
4000 mtu 20V4000 DS3250 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid

Options / Subcomponent Summary

Engine: Rolls-Royce Solutions America Inc.; Alternator: Leroy Somer; Radiator: Diesel Radiator; Autotensioner: Rolls-Royce
Solutions America Inc.; Controller: Rolls-Royce Solutions America Inc.; Air Filters: Donaldson; Battery: NAPA; Battery Charger:
SENS; Battery Heater: Zero Start; Fuel Filters: Separ; Fuel Gauge: Orange Research; Oil Leveler: Murphy; Fuel Lift Pump:
Oberdorfer; Coolant Filter: Donaldson; Fuel Meter: FloScan; Oil Pump: RPM Industries; Pyrometer: OMEGA,; Oil Sampling Port:
Rolls-Royce Solutions America Inc.; Battery Disconnect: Flaming River; Battery Disconnect: Blue Sea; Vibration Switch: Murphy;

Jacket Water Heaters: Kim Hotstart; Breaker: Square-D
UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%

63,150 320 132 150 5 4 9

UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Aric (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AG156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -
Test Mounting Details

UUT-08 was externally isolated using (18) VMC M2SSHX-1E-6200N spring isolators. Isolators were attached to the generator skid
using (18) 3/4" grade 8 bolts. Isolators were welded to an adaptor and the adaptor was bolted to the fixture using (32) 3/4" grade 8
bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 25 of 59



VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UUT-9

Test Report: DCL 30889-1801b

Model Line

Model Number

Manufacturer

6R0150

mtu 6R0150 DS275

Rolls-Royce Solutions America Inc.

Product Construction Summary

ICarbon Steel Enclosure, Carbon Steel Fuel Tank, Carbon Steel Skid

Options / Subcomponent Summary

Fuel Tank: RRSA; Engine: John Deere; Alternator: Marathon; Radiator: AKG; Enclosure: Rolls-Royce Solutions America Inc.;
Scoop: Rolls-Royce Solutions Inc.; Air Filter: Donaldson; Jacket Water Heaters: Kim Hotstart; Breakers: Square-D; Battery: Exide;
Battery Charger: SENS; Controller: Rolls-Royce Solutions America Inc.; Silencer: Miratech; Lighting Kit: Rolls-Royce Solutions
America Inc.; Motorized Louver: Vent Products; Gravity Louver: Vent Products

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
14,600 280.0 60.0 140.0 7.0 6.5 20.0

UUT Highest Passed Seismic Run Information

Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v

CBC 2022 ICC-ES AC156 = el s =20 3.00 - -
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

UUT-9 was rigidly mounted to the fuel tank using (8) 5/8" diameter Grade 8 bolts. The tank was rigidly connected to the shake table
using (8) 5/8" Grade 8 bolts.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 0748;8-;%8%%—838—1780-Fax: 973—492-8430-vvwwthevmcgroup.cclz_;gge 26 of 59




UNIT UNDER TEST (UUT)
Summary Sheet

UUT 10a

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 SUA105039 SENS

Product Construction Summary

SENS Battery Charger

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
130 20 13 18 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arixh (9) | Arict (9) | Arixv (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

JUUT-10a was mounted to manufacturer provided stand using Qty. (4) M8, class 8.8 bolts. Stand mounted to skid using Qty. (6) M12,
class 8.8 bolts. The skid was isolated to the shake table interface using Qty (16) VMC M2SSH-1E-3400N isolators.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 27 of 59



UNIT UNDER TEST (UUT)

Summary Sheet

UUT 10b

DCL Test Report: 30673-1801

Model Line

Model Number

Manufacturer

4000

SUA105039

SENS

Product Construction Summary

SENS Battery Charger

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
130 20 13 18 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arixh (9) | Arict (9) | Arixv (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

Insert Photo

JUUT-10b was mounted to manufacturer provided stand using Qty. (4) M8, class 8.8 bolts. Stand mounted to skid using Qty. (6) M12,
class 8.8 bolts. The skid was rigidly mounted to the shake table interface with Qty. (16) 5/8" diameter, grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025

OSP-0553

Page 28 of 59




UNIT UNDER TEST (UUT)
Summary Sheet

UUT 11a

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 BBS-4800 SENS

Product Construction Summary

SENS Best Battery Selector

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
55 20 13 18 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC158 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

JUUT-11a was mounted to manufacturer provided stand using Qty. (4) M8, class 8.8 bolts. Stand mounted to skid using Qty. (6) M12,
class 8.8 bolts. The skid was isolated to the shake table interface using Qty (16) VMC M2SSH-1E-3400N isolators.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 29 of 59



UNIT UNDER TEST (UUT)

Summary Sheet

UUT 11b

DCL Test Report: 30673-1801

Model Line

Model Number

Manufacturer

4000

BBS-4800

SENS

Product Construction Summary

SENS Best Battery Selector

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
55 20 13 18 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC158 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

JUUT-11b was mounted to manufacturer provided stand using Qty. (4) M8, class 8.8 bolts. Stand mounted to skid using Qty. (6) M12,
class 8.8 bolts. The skid was rigidly mounted to the shake table interface with Qty. (16) 5/8" diameter, grade 8 bolts.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
Page 30 of 59

08/05/2025

OSP-0553




UNIT UNDER TEST (UUT)
Summary Sheet

UUT 12a

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 SUA190831 Racor

Product Construction Summary

JRacor Fuel Filter

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
75 22 12 22 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-12a was mounted to manufacturer provided stand using Qty. (8) M10, class 8.8 bolts. Stand mounted to Qty. (2) triangle
supports using Qty. (2) M10, class 8.8 bolts per triangle support. The triangle support was mounted to the skid using Qty. (2) M12,
class 8.8 bolts. The skid was isolated to the shake table interface using Qty (16) VMC M2SSH-1E-3400N isolators.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 31 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 12b

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 SUA190831 Racor

Product Construction Summary

JRacor Fuel Filter

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
75 22 12 22 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-12b was mounted to manufacturer provided stand using Qty. (8) M10, class 8.8 bolts. Stand mounted to Qty. (2) triangle
supports using (2) M10, class 8.8 bolts per triangle support. The triangle support was mounted to the skid using (2) M12, class 8.8
bolts. The skid was rigidly mounted to the shake table interface with (16) 5/8" diameter, grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 32 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 13b

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer
4000 XS596300.0037 Rolls-Royce Solutions
America Inc.

Product Construction Summary

JRolls-Royce Solutions America Inc. Oil Tank

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
500 30 22 92 17 >33.3 >33.3
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | AricH (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC158 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-13b was mounted to manufacturer provided stand using Qty. (2) 20 gage brackets mounted to the stand with Qty. (2) 5/16"
diameter, grade 5 bolts in each bracket. Stand mounted to the skid using Qty. (4) M10, class 8.8 bolts. The skid was rigidly mounted
to the shake table interface with Qty. (16) 5/8" diameter, grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 33 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 14a

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 X59618100027 RPM Industries

Product Construction Summary

JIRPM Industries Oil Pump

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
65 8 23 11 6.5 15 11
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-14a was mounted to the skid using Qty. (4) M10, class 8.8 bolts. The skid was isolated to the shake table interface using Qty
(16) VMC M2SSH-1E-3400N isolators.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 34 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 14b

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 X59618100027 RPM Industries

Product Construction Summary

IRPM Industries Oil Pump

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
65 8 23 11 33 >33.3 >33.3
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | AricH (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC158 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-14b was mounted to the skid using Qty. (4) M10, class 8.8 bolts. The skid was rigidly mounted to the shake table interface with
Qty. (16) 5/8" diameter, grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 35 of 59



UNIT UNDER TEST (UUT)

Summary Sheet

UUT 15a

DCL Test Report: 30673-1801

Model Line

Model Number

Manufacturer

4000

X5941810009

RPM Industries

Product Construction Summary

JRPM Industries Oil Pump

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
60 7 23 8 6.5 15 11
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-15a was mounted to the skid using Qty. (4) M10, class 8.8 bolts. The skid was isolated to the shake table interface using Qty
(16) VMC M2SSH-1E-3400N isolators.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025

OSP-0553

Page 36 of 59




UNIT UNDER TEST (UUT)
Summary Sheet

UUT 15b

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 X5941810009 RPM Industries

Product Construction Summary

IRPM Industries Oil Pump

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
60 7 23 8 33 >33.3 >33.3
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | AricH (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AC158 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-15b was mounted to the skid using Qty. (4) M10, class 8.8 bolts. The skid was rigidly mounted to the shake table interface with
Qty. (16) 5/8" diameter, grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 37 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 17a

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 DR2837 Diesel

Product Construction Summary

IDiesel Radiator

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
4,850 38 89 102 8 10 21
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arixh (9) | Arict (9) | Arixv (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67

2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-17a was mounted to the skid using Qty. (12) M16, grade 8.8 bolts. The skid was isolated to the shake table interface using Qty
(16) VMC M2SSH-1E-3400N isolators.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 38 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 17b

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 DR2837 Diesel

Product Construction Summary

IDiesel Radiator

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
4,850 38 89 102 8 10 21
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arixh (9) | Arict (9) | Arixv (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67

2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-17a was mounted to the skid using Qty. (12) M16, grade 8.8 bolts. The skid was rigidly mounted to the shake table interface
fixture with Qty. (16) 5/8" diameter, grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 39 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 18a

DCL Test Report: 30673-1801

Model Line Model Number Manufacturer

4000 X52864300002 Garzo

Product Construction Summary

Garzo Oil Leveler

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
10 6 8 3 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arixh (9) | Arict (9) | Arixv (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-18a was mounted to the bracket using Qty. (2) 3/8" diameter, grade 5 bolts. The skid was isolated to the shake table interface
using Qty (16) VMC M2SSH-1E-3400N isolators.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 40 of 59




UNIT UNDER TEST (UUT)

Summary Sheet

UUT 18b

DCL Test Report: 30673-1801

Model Line

Model Number

Manufacturer

4000

X52864300002

Garzo

Product Construction Summary

Garzo Oil Leveler

Options / Subcomponent Summary

UUT Properties
Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
10 6 8 3 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arixh (9) | Arict (9) | Arixv (9) | Aricv (9)
CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67
2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-18b was mounted to the bracket using Qty. (2) 3/8" diameter, grade 5 bolts. The skid was rigidly mounted to the shake table
interface with Qty. (16) 5/8" diameter, grade 8 bolts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025

OSP-0553

Page 41 of 59




VMC GROUP

UNIT UNDER TEST (UUT)
Summary Sheet

Test Report: DCL 30889-1801b; UUT-10A

UUT-19A

Model Line

Model Number

Manufacturer

6R0225

mtu 6R0225 DS400

Rolls-Royce Solutions America Inc.

Product Construction Summary

Aluminum Enclosure, Carbon Steel Fuel Tank

Options / Subcomponent Summary

Engine: John Deere; Alternator: Marathon; Radiator: AKG; Enclosure: Rolls-Royce Solutions America Inc.; Scoop: Rolls-Royce
Solutions Inc.; Air Filter: Vortox; Jacket Water Heaters: Kim Hotstart; Breakers: Square-D; Battery: Exide; Battery Charger: SENS;
Silencer: Miratech; Lighting Kit: Rolls-Royce Solutions America Inc.; Motorized Louver: Vent Products; Gravity Louver: Vent

Products
UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
32,500 287.0 88.0 147.0 4.5 5.0 9.5
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 = el s =20 3.00 - -
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-19A was rigidly mounted to the fuel tank using (8) 5/8" diameter Grade 8 bolts. The tank was rigidly connected to the shake
table using (12) 5/8" Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VM =113 Main S Bloomi le, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430+ .th ;
08/05/2025 e VMC Group =113 Main Street, Bloomingdale, NJ 0 gsg,e_ogg% 38 0=Fax: 973-49 30 wwwtevmcgroupcc'z_;gge420f59



VMC GROUP

UNIT UNDER TEST (UUT)
Summary Sheet

Test Report: DCL 30889-1801b; UUT-10B

UUT-19B

Model Line

Model Number

Manufacturer

6R0225

mtu 6R0225 DS400

Rolls-Royce Solutions America Inc.

Product Construction Summary

Aluminum Enclosure

Options / Subcomponent Summary

Engine: John Deere; Alternator: Marathon; Radiator: AKG; Enclosure: Rolls-Royce Solutions America Inc.; Scoop: Rolls-Royce
Solutions Inc.; Air Filter: Vortox; Jacket Water Heaters: Kim Hotstart; Breakers: Square-D; Battery: Exide; Battery Charger: SENS;
Silencer: Miratech; Lighting Kit: Rolls-Royce Solutions America Inc.; Motorized Louver: Vent Products; Gravity Louver: Vent

Products
UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
13,000 207.0 88.0 111.0 4.0 3.0 5.0
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 = el s =20 3.00 - -
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-19B was isolated using (8) VMC Group M2SS-1E-2400N spring isolators. The isolators were connected to the equipment
using (1) 5/8" diameter Grade 8 bolt each, and were connected to the shake table using (32) 5/8" diameter Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VM =113 Main S Bloomi le, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430+ .th ;
08/05/2025 e VMC Group =113 Main Street, Bloomingdale, NJ 0 gsg,e_ogg% 38 0=Fax: 973-49 30 wwwtevmcgroupcc'z_;gge430f59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 20a

DCL Test Report: 30837-1801

Model Line Model Number Manufacturer
4000 mtu 20V4000 DS3250 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid

I Options / Subcomponent Summary

Engine: Rolls-Royce Solutions America Inc.; Alternator: Leroy Somer; Radiator: Diesel Radiator; Autotensioner: Rolls-Royce
Solutions America Inc.; Controller: Rolls-Royce Solutions America Inc.; Air Filters: Donaldson; Battery: NAPA; Battery Charger:
SENS; Best Battery Selector: SENS; Battery Heater: Zero Start; Fuel Filters: Hydec; Breakers: Eaton; Breaker: Square-D; Oil Tank:
Rolls-Royce Solutions America Inc.; Fuel Lift Pump: Oberdorfer; Battery Disconnect: Blue Sea; Battery Disconnect: Blue Sea;

Jacket Water Heaters: Kim Hotstart
UUT Properties

Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S Vv
69,400 132 320 150 5.5 4 9.5

UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)

CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67

2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-20a was externally isolated using (18) VMC M2SSHX-1E-6200N spring isolators. Isolators were attached to the generator skid
using (18) 3/4" grade 8 bolts. Isolators were welded to an adaptor and the adaptor was bolted to the fixture using (32) 3/4" grade 8
bolts.

Insert Photo

oo | (= 4

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

C-Channel

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 44 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 20b

DCL Test Report: 30837-1801

Model Line Model Number Manufacturer
4000 mtu 20V4000 DS3250 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid

Options / Subcomponent Summary

Engine: Rolls-Royce Solutions America Inc.; Alternator: Leroy Somer; Radiator: Diesel Radiator; Autotensioner: Rolls-Royce
Solutions America Inc.; Controller: Rolls-Royce Solutions America Inc.; Air Filters: Donaldson; Battery: NAPA; Battery Charger:
SENS; Best Battery Selector: SENS; Battery Heater: Zero Start; Fuel Filters: Hydec; Breakers: Square-D; Oil Tank: Rolls-Royce
Solutions America Inc.; Fuel Lift Pump: Oberdorfer; Battery Disconnect: Blue Sea; Battery Disconnect: Blue Sea; Jacket Water
Heaters: Kim Hotstart

UUT Properties

Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S Vv
68,900 132 320 150 5.5 4 9.5

UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Arich (9) | Arxy (9) | Aricv (9)

CBC 2022 ICC-ES AC156 2.50 0.00 1.50 - - 1.67 0.67

2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-20b was rigidly attached to (18) locked out (springs and dampers removed) VMC M2SSHX-1E-6200N spring isolators.
Isolators were attached to the generator skid using (18) 3/4" grade 8 bolts. Isolators were welded to an adaptor and the adaptor was
bolted to the fixture using (32) 3/4" grade 8 bolts.

Insert Photo

N

Oil Tank Subcomponent

I C-Channel

Fixture

= v/

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

Locked Out
Isolators

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 45 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 21a

DCL Test Report: 16322-2101

Model Line Model Number Manufacturer
12V 1600 mtu 12V1600 DS900 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid

Options / Subcomponent Summary

Enclosure: Rolls-Royce Solutions America Inc.; Engine: Rolls-Royce Solutions America Inc.; Alternator: Leroy Somer; Radiator:
IAKG; Controller: Rolls-Royce Solutions America Inc.; Air Filters: Donaldson; Battery: NAPA; Battery Charger: SENS; Best Battery
Selector: SENS; Battery Heater: Zero Start; Fuel Filters: Hydec; Breakers: Square-D; Distribution Panel: ABB; Battery Disconnect:
Blue Sea; Enclosure Lighting: Rolls-Royce Solutions America Inc.; Diesel Particulate Filter: Johnson Matthey; Fuel Tank: Rolls-
Royce Solutions America Inc.; Space Heater: King Electric; Motorized Louver & Gravity Louver: Vent Products; Jacket Water
Heaters: Kim Hotstart

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
37,688 318 102 144 2.6 2.9 4.6

UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Aric (9) | Arxy (9) | Aricv (9)

CBC 2022 ICC-ES AG156 2.50 0.00 1.50 - - 1.68 0.68

2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-21a — Isolated Shake - Genset was mounted on (14) MSSH-1E-3250N Isolators using 3/4" Dia. Grade 8 bolts. The isolators
were engaged to simulate isolated mounting. MSSH-1E-3250N isolators were bolted to the fuel tank with (56) 5/8” Dia. Grade 8
bolts. The fuel tank was bolted to fixture with (14) 3/4" Dia. Grade 8 bolts, flat washers and nuts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 46 of 59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT 21b

DCL Test Report: 16322-2101

Model Line Model Number Manufacturer
12V 1600 mtu 12V1600 DS900 Rolls—Roy(.:e Solutions
America Inc.

Product Construction Summary

Carbon Steel Skid

Options / Subcomponent Summary

Enclosure: Rolls-Royce Solutions America Inc.; Engine: Rolls-Royce Solutions America Inc.; Alternator: Leroy Somer; Radiator:
IAKG; Controller: Rolls-Royce Solutions America Inc.; Air Filters: Donaldson; Battery: NAPA; Battery Charger: SENS; Best Battery
Selector: SENS; Battery Heater: Zero Start; Fuel Filters: Hydec; Breakers: Square-D; Distribution Panel: ABB; Battery Disconnect:
Blue Sea; Enclosure Lighting: Rolls-Royce Solutions America Inc.; Diesel Particulate Filter: Johnson Matthey; Fuel Tank: Rolls-
Royce Solutions America Inc.; Space Heater: King Electric; Motorized Louver & Gravity Louver: Vent Products; Jacket Water
Heaters: Kim Hotstart

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
37,688 318 102 144 5.7 5.7 9
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Aric (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AG156 2.50 0.00 1.50 - - 1.68 0.68

2.00 1.00 1.50 3.20 2.40 - -

Test Mounting Details

UUT-21b — Rigid Shake - Genset was mounted on (14) MSSH-1E-3250N Isolators using 3/4" Dia. Grade 8 bolts. The isolators were
locked out to simulate rigid mounting. MSSH-1E-3250N isolators were bolted to the fuel tank with (56) 5/8” Dia. Grade 8 bolts. The
fuel tank was bolted to fixture with (14) 3/4" Dia. Grade 8 bolts, flat washers and nuts.

Insert Photo

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com

08/05/2025 OSP-0553 Page 47 of 59



UNIT UNDER TEST (UUT)

Summary Sheet UuT 22a

DCL Test Report: 20479-2201; UUT-1A

Model Line Model Number Manufacturer

Fuel Water Separators/Filters and

. Fuel Water Separators/Filters and Fuel Monitor Racor and ESI
Fuel Monitor

Product Construction Summary

Carbon Steel, Cast Iron, Stainless Steel, Brass, Copper, Plastic, Glass

I Options / Subcomponent Summary

IFuel Filters: Racor; Fuel Monitor System: ESI

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
2,990 133.0 77.0 49.5 >33.3 9.5 28.5

UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Aric (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AG156 2.50 0.00 1.50 1.68 0.68
2.00 1.00 1.50 3.20 2.40

Test Mounting Details

The mock skid was rigidly mounted to the shake table using (4) 5/8" diameter Grade 8 bolts. The Triple Fuel Filter was mounted to
fIthe skid with (8) M12 Grade 8.8 bolts. The Single Fuel Filter was mounted to the skid with (6) M10 Grade 8.8 bolts. The Fuel Monitor
System was mounted to the skid with (4) M12 Grade 8.8 bolts; the flow meter assembly was mounted to the skids with (3) M16
Grade 8.8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 48 of 59



UNIT UNDER TEST (UUT)

Summary Sheet uuT 22b

DCL Test Report: 20479-2201; UUT-1b

Model Line Model Number Manufacturer

Fuel Water Separators/Filters and

. Fuel Water Separators/Filters and Fuel Monitor Racor and ESI
Fuel Monitor

Product Construction Summary

Carbon Steel, Cast Iron, Stainless Steel, Brass, Copper, Plastic, Glass

I Options / Subcomponent Summary

IFuel Filters: Racor; Fuel Monitor System: ESI

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
2,990 133.0 77.0 49.5 3.5 4.5 5.5

UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (9) z/h Ip Arix+ (9) | Aric (9) | Arxy (9) | Aricv (9)
CBC 2022 ICC-ES AG156 2.50 0.00 1.50 1.68 0.68
2.00 1.00 1.50 3.20 2.40

Test Mounting Details

The mock skid was isolated using (4) VMC Group MSSH spring isolators. The isolators were connected to the equipment using (1)
5/8" Grade 8 bolt each, and were connected to the shake table using (4) 5/8" diameter Grade 8 bolts per isolator. The Triple Fuel
Filter was mounted to the skid with (8) M12 Grade 8.8 bolts. The Single Fuel Filter was mounted to the skid with (6) M10 Grade 8.8
bolts. The Fuel Monitor System was mounted to the skid with (4) M12 Grade 8.8 bolts; the flow meter assembly was mounted to the
skids with (3) M16 Grade 8.8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VMC Group =113 Main Street, Bloomingdale, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430=www.thevmcgroup.com
08/05/2025 OSP-0553 Page 49 of 59



VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UUT-23

Test Report: DCL 24818-2401

Model Line

Model Number

Manufacturer

3R0096

mtu 3R0096 DS30

Rolls-Royce Solutions America Inc.

Product Construction Summary

Carbon Steel Enclosure, Carbon Steel Scoops, Carbon Steel Fuel Tank

Options / Subcomponent Summary

Fuel Tank: RRSA; Engine: John Deere; Alternator: Marelli; Radiator: JB Radiator; Enclosure: RRSA; Scoop: RRSA; Air Filter:

Donaldson; Jacket Water Heaters: Kim Hotstart; Breakers: Square-D; Battery: Napa; Battery Charger: RRSA; Carbon Steel

Silencer: Phillips & Temro; Motorized Louver: RRSA; Gravity Louver: Vent Products; Fuel Tank: RRSA; Controller: RRSA

(RRSA = Rolls-Royce Solutions America Inc.)

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
4,740 105.0 36.0 102.0 8.0 11.0 14.0

UUT Highest Passed Seismic Run Information

Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v

CBC 2022 ICC-ES AC156 = el s =20 240 - -
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-23 was rigidly mounted to the fuel tank using (6) M16 Grade 8.8 bolts. The tank was rigidly connected to the shake table using

(8) 5/8" Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 0748;8-;%8%%—838—1780-Fax: 973—492-8430-vvwwthevmcgroup.cclz_;gge 50 of 59




VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UUT-24

Test Report: DCL 24818-2401

Model Line

Model Number

Manufacturer

6R0225

mtu 6R0225 DS300

Rolls-Royce Solutions America Inc.

Product Construction Summary

Carbon Steel Fuel Tank

Options / Subcomponent Summary

Fuel Tank: RRSA; Engine: John Deere; Alternator: Marelli; Radiator: AKG; Air Filter: Vortox; Jacket Water Heaters: Kim Hotstart;
Breakers: Square-D; Battery: Napa; Battery Charger: SENS; Fuel Tank: RRSA; Controller: RRSA; Distribution Panel: RRSA; Fuel

Filter: Racor

(RRSA = Rolls-Royce Solutions America Inc.)

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
22,812 409.0 64.0 78.0 4.0 5.0 6.5
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 = el s =20 240 - -
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

UUT-24 was isolated using (8) VMC Group MSSH-1E-1700N spring isolators. The isolators were connected to the equipment using
(8) 5/8" Grade 8 bolts, and were connected to the tank using (4) 5/8" diameter Grade 8 bolts per isolator. The tank was rigidly
connected to the shake table using (24) 3/4" Grade 8 bolts.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 0748;8-;%8%%—838—1780-Fax: 973—492-8430-vvwwthevmcgroup.cclz_;gge 51 of 59




UNIT UNDER TEST (UUT)
Summary Sheet

UUT-25

VMC GROUP

Test Report: DCL 31218-2001; UUT-13

Model Line Model Number Manufacturer

6R0150 OPU 6090 Tier 4 Rolls-Royce Solutions America Inc.

Product Construction Summary

ICarbon Steel Skid

Options / Subcomponent Summary

Aftertreatment: John Deere

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
1,653 144.0 60.0 100.0 5.5 8.5 11.0

UUT Highest Passed Seismic Run Information

Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v

CBC 2022 ICC-ES AC156 == el s =20 3.00 _ _
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

JUUT-25 was rigidly mounted to the shake table using (8) 5/8" diameter Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VM =113 Main S Bloomi le, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430+ .th ;
08/05/2025 e VMC Group =113 Main Street, Bloomingdale, NJ 0 gsg,e_ogg% 38 0=Fax: 973-49 30 vvvvvvtevmcgroupcc'z_;gge520f59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT-26

VMC GROUP

Test Report: DCL 31218-2001; UUT-14

Model Line Model Number Manufacturer

6R0225 OPU 6135 Tier 4 Rolls-Royce Solutions America Inc.

Product Construction Summary

ICarbon Steel Skid

Options / Subcomponent Summary

Aftertreatment: John Deere

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
1,862 137.0 80.0 103.0 4.0 3.0 9.0
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 == el s =20 3.00 _ _
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-26 was isolated using (4) VMC Group MSS-1E-1000 spring isolators. The isolators were connected to the equipment using (4)
5/8" Grade 8 bolts and were connected to the I-beams using (4) 5/8" Grade 8 bolts per each isolator. The two I-beams were
mounted to the shake table using (32) 5/8" diameter Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VM =113 Main S Bloomi le, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430+ .th ;
08/05/2025 e VMC Group =113 Main Street, Bloomingdale, NJ 0 gsg,e_ogg% 38 0=Fax: 973-49 30 vvvvvvtevmcgroupcc'z_;gge530f59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT-27

VMC GROUP

Test Report: DCL 11441-1501; UUT-3

Model Line Model Number Manufacturer

75kW Gas Genset 10V0068 GS75 Rolls-Royce Solutions America Inc.

Product Construction Summary

ICarbon Steel Enclosure

I Options / Subcomponent Summary

Enclosure: Rolls-Royce Solutions America Inc. ; Silencer: Miratech ; Engine: Rolls-Royce Solutions America Inc. ; Alternator:
Marathon ; Air Filter: Baldwin ; Controller: Rolls-Royce Solutions America Inc. ; Jacket Water Heater: Kim Hotstart ; Battery: Napa ;
Battery Charger: Marinco ; Radiator: JB Radiator ; Breakers: Square-D

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
3,420 1325 50.5 80.0 4.3 6.8 14.5

UUT Highest Passed Seismic Run Information

Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v

CBC 2022 ICC-ES AC156 = el s =20 3.00 _ _
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

JUUT-27 was rigidly mounted to the shake table using (6) 5/8" diameter Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VM =113 Main S Bloomi le, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430+ .th ;
08/05/2025 e VMC Group =113 Main Street, Bloomingdale, NJ 0 gsg,e_ogg% 38 0=Fax: 973-49 30 wwwtevmcgroupcc'z_;gges4of59



UNIT UNDER TEST (UUT)
Summary Sheet

UUT-28

VMC GROUP

Test Report: VMA-49667-01E; UUT-5

Model Line Model Number Manufacturer

30kW Gas Genset GGO04RF025V2 Rolls-Royce Solutions America Inc.

Product Construction Summary

Carbon Steel Enclosure

Options / Subcomponent Summary

Enclosure: Rolls-Royce Solutions America Inc. ; Engine: Rolls-Royce Solutions America Inc. ; Alternator: Marathon ; Radiator: JB
Radiators ; Air Filter: Baldwin ; Controller: Rolls-Royce Solutions America Inc. ; Jacket Water Heater: Kim Hotstart ; Breakers:
Square-D ; Battery: Napa ; Battery Sensor: SENS ; Battery Charger: Guest ; Space Heater: King ; Silencer: Miratech and Maremont;
Louvers: Rolls-Royce Solutions America Inc. ; Distribution Panel: Rolls-Royce Solutions America Inc.

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
1,980 92.0 36.0 63.0 5.0 6.3 6.0
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 = el s =20 3.00 _ _
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-28 was isolated using (6) VMC Group MSSH-1E-530N spring isolators. The isolators were connected to the equipment using
(1) 3/4" diameter Grade 8 bolt each, and were connected to the shake table using (24) 3/4" diameter Grade 5 bolts.
DCRs: Bolts attaching the control panel to the junction box were replaced with 1/4" x 20 Grade 8 bolts

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

The VM =113 Main S Bloomi le, NJ 07403 =Tel: 973-838-1780=Fax: 973-492-8430+ .th ;
08/05/2025 e VMC Group =113 Main Street, Bloomingdale, NJ 0 gsg,e_ogg% 38 0=Fax: 973-49 30 vvvvvvtevmcgroupcc'z_;gge550f59



VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UUT-29A

Test Report: DCL 25108-2401; UUT-25A

Model Line

Model Number

Manufacturer

6R0269

mtu 6R0269 DS500

Rolls-Royce Solutions America Inc.

Product Construction Summary

Carbon Steel Enclosure

Options / Subcomponent Summary

Engine + Radiator: Volvo; Alternators: Marathon; Controller: Rolls-Royce Solutions America Inc.; Breakers: Square-D; Distribution
Panel: Rolls-Royce Solutions America Inc.; Battery: Napa; Battery Heater: Zero Start; Battery Charger: SENS; Air Filters:
Donaldson; Jacket Water Heaters: Kim Hotstart; Fuel Filters: Racor; Carbon Steel Silencer: Miratech; Enclosure Lighting: Rolls-
Royce Solutions America Inc.; Space Heater: King Electric; Motorized Louver: Vent Products; Gravity Louver: Vent Products; Fuel

Tank: Rolls-Royce Solutions America Inc.

UUT Properties

Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]

[lbs] Length Width Height F-B S-S \'%
36,900 395.8 81.5 137.8 7.0 7.8 10.3

UUT Highest Passed Seismic Run Information

Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v

CBC 2022 ICC-ES AC156 = el s =20 3.00 _ _
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-29A was rigidly mounted to the fuel tank using (10) 3/4" diameter Grade 8 bolts. The tank was rigidly connected to the shake
table using (18) 5/8" Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 0748;8-;%8%%—838—1780-Fax: 973—492-8430-vvwwthevmcgroup.cclz_;gge 56 of 59




VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UUT-29B

Test Report: DCL 25108-2401; UUT-25B

Model Line

Model Number

Manufacturer

6R0269

mtu 6R0269 DS500

Rolls-Royce Solutions America Inc.

Product Construction Summary

Carbon Steel Enclosure

Options / Subcomponent Summary

Engine + Radiator: Volvo; Alternators: Marathon; Controller: Rolls-Royce Solutions America Inc.; Breakers: Square-D; Distribution
Panel: Rolls-Royce Solutions America Inc.; Battery: Napa; Battery Heater: Zero Start; Battery Charger: SENS; Air Filters:
Donaldson; Jacket Water Heaters: Kim Hotstart; Fuel Filters: Racor; Carbon Steel Silencer: Miratech; Enclosure Lighting: Rolls-
Royce Solutions America Inc.; Space Heater: King Electric; Motorized Louver: Vent Products; Gravity Louver: Vent Products; Fuel

Tank: Rolls-Royce Solutions America Inc.

UUT Properties
Weight Dimensions [ in] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S \'%
36,900 395.8 81.5 137.8 3.3 4.3 6.0
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Spbs z/h Ip ArLxH ARiG.H ArLxv ARric.v
CBC 2022 ICC-ES AC156 = el s =20 3.00 _ _
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

UUT-29B was isolated using (10) VMC Group M2SSH-1E-2400N spring isolators. The isolators were connected to the equipment
using (10) 3/4" Grade 8 bolts, and were connected to the tank using (4) 5/8" diameter Grade 8 bolts per isolator. The tank was
rigidly connected to the shake table using (18) 5/8" Grade 8 bolts.

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 0748;8-;%8%%—838—1780-Fax: 973—492-8430-vvwwthevmcgroup.cclz_;gge 57 of 59




UNIT UNDER TEST (UUT)
Summary Sheet

UUT-30

VMC GROUP

Test Report: 30889-1801a; UUT-1b

Model Line Model Number Manufacturer

75 kW Gas Genset MTU10V0068GS75 Rolls-Royce Solutions America Inc.

Product Construction Summary

Steel Enclosure

Options / Subcomponent Summary

Enclosure: Rolls-Royce Solutions America Inc. ; Engine: Rolls-Royce Solutions America Inc. ; Alternator: Marathon ; Radiator: JB
Radiator ; Air Filter: Baldwin ; Contoller: Rolls-Royce Solutions America Inc. ; Jacket Water Heater: Kim Hotstart ; Circuit Breaker:
Square D ; Battery: Napa ; Battery Charger: Marinco ; Lighting Kit: Rolls-Royce Solutions America Inc. ; Silencer: Miratech

UUT Properties

Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[Ibs] Length Width Height F-B S-S \'
3,070 100.0 48.0 83.0 7.0 4.0 5.5

UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps z/h Ip ArLxH AricH Ar x.v Agig.v
2.00 1.0 1.5 3.20 3.00 - -
CBC 2022 ICC-ES AC156
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

JUUT-30 was isolated using (6) VMC MSS-1E-1200N spring isolators. The isolators were connected to the equipment using (1) 5/8
Grade 5 bolt each, and were connected to the shake table using (2) 5/8" diameter Grade 8 bolts per isolator.
IDCRs: Breaker and control cabinet, and air intake bracket attachment points changed from thru-holes instead of slotted channels

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

08/05/2025 OSP-0553 Page 58 of 59



VMC GROUP

UNIT UNDER TEST (UUT)

Summary Sheet

UUT-31

Test Report: DCL 24919-2401

Model Line

Model Number

Manufacturer

12V1600

mtu 12V1600 DS600

Rolls-Royce Solutions America Inc.

Product Construction Summary

Carbon Steel Enclosure

Options / Subcomponent Summary

Enclosure: Rolls-Royce Solutions America Inc. ; Engine: Rolls-Royce Solutions America Inc. ; Alternator: Marathon ; Radiator:
Bearward; Controller: Rolls-Royce Solutions America Inc.; Breakers: Square-D; Distribution Panel: ABB; Battery: NAPA, Battery
Charger: SENS; Air Filters: Donaldson; Jacket Water Heaters: Kim Hotstart; Fuel Filters: Hydec; Carbon Steel Silencer: Miratech;

Motorized Louver & Gravity Louver: Vent Products

UUT Properties

Weight Dimensions [ in ] Lowest Nat. Freq. [ Hz ]
[lbs] Length Width Height F-B S-S Vv
15,820 249.5 86.0 105.0 4.0 4.5 6.3

UUT Highest Passed Seismic Run Information
Building Code Test Criteria Shs z/h Ip ArixH Agic-H Arixv Agic.v
2.00 1.0 1.5 3.20 2.40 - -
CBC 2022 ICC-ES AC156
2.50 0.0 1.5 - - 1.67 0.67

Test Mounting Details

All units were filled with contents and maintained structural integrity and functionality after AC-156 test.

UUT-31 was isolated using (12) VMC Group M2SSH-1E-2400N spring isolators. The isolators were connected to the equipment
using (1) 3/4 Grade 8 bolt each, and were connected to the shake table using (4) 5/8" diameter Grade 8 bolts per isolator.

08/05/2025

The VMC Group =113 Main Street, Bloomingdale, NJ 07483s-;e|6%?é838—1 780+=Fax: 973-492-8430+=www.thevmcgroup.com

Page 59 of 59






